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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you mean by double entry system? 

 Cμmøh¨ £vÄ •øÓ GßÓõÀ GßÚ? 

2. What is Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

3. What is a suspense account? 

 AÚõ©zx PnUS GßÓõÀ GßÚ? 

4. What is Error of Omission? 

 Âk¤øÇ GßÓõÀ GßÚ? 

5. What is original cost method of charging depreciation? 

 ÷|º÷Põmk •øÓ ÷u´©õÚ® Gß£x ¯õx? 

6. Define depreciation. 

 ÷u´©õÚ® Áøμ¯Ö. 
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7. What is non-trading organization? 

 Â¯õ£õμ ÷|õUP©ØÓ Aø©¨¦ GßÓõÀ GßÚ? 

8. What is “Trading account’? 

 Â¯õ£õμ PnUS GßÓõÀ GßÚ? 

9. What is average due date? 

 \μõ\› uÁøn |õÒ Gß£x GßÚ? 

10. What is Base Date?    

 Ai¨£øh |õÒ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are accounting concepts? 

   PnUQ¯À ÷Põm£õk GßÓõÀ GßÚ? 

Or 

 (b) Journalize the following in the journal of Mr. Ravi.  

  Rs. 

10th May 2010 Received cash  
from Raja 1,00,000

14 th Paid cash to Siva 50,000

18th Bought goods for 
cash 50,000

20th Bought goods on 
credit from David 60,000

24th Sold goods for cash 2, 00,000
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   v¸. μÂ AÁºPÎß SÔ¨÷£miÀ RÌUPõq® 
|hÁiUøPPøÍ¨ £vÄ ö\´P. 

  ¹. 

÷© 10, 2010 CμõáõÂhª¸¢x 
ö£ØÓ öμõUP® 1,00,000

÷© 14, 2010  ]ÁõUS öμõUP® 
öPõkzux 50,000

÷© 18, 2010 öPõÒ•uÀ ö\´ux 50,000

÷© 20, 2010 ÷hÂm 
Gß£Á›hª¸¢x 
öPõÒ•uÀ ö\´ux 60,000

÷© 24, 2010 ÂØ£øÚ ö\´ux 2, 00,000

12. (a) Explain errors of omission and errors of commission 

   Âk¤øÇ ©ØÖ® ö\´¤øÇ BQ¯ÁØøÓ ÂÍUSP. 

Or 

 (b) From the following particulars, prepare a BRS  

  (i) Balance as per cash book (Bank balance)  
Rs. 10,000 

  (ii) Unpresented cheque Rs. 3,000 

  (iii)  Uncleared cheque Rs. 2,000 

  (iv)  Bank charges Rs. 50. 

  ¤ßÁ¸® Â£μzv¼¸¢x Á[Q \›Pmk® £mi¯ø» 
u¯õ›UP. 

  (i) öμõUP Hmiß £i Á[Q C¸¨¦ ¹. 10,000 

  (ii) Âkzu BÚõÀ £n©õUP¨£hõu Põ÷\õø»  
¹. 3,000 

  (iii) ö\¾zv¯ BÚõÀ ÁμÄ øÁUP¨£hõu 
Põ÷\õø» ¹. 2,000 

  (iv) Á[Q Pmhn® ¹. 50 
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13. (a) Calculate the loss on sale of machinery under 
written down value method from the following 
particulars: 

  Original cost of machine on 01.01.2017 Rs. 1,50,000. 
Rate of depreciation at 10% on written dawn value 
method. Sale of plant on 31.12.2018 for Rs. 78,000. 
The accounts are closed on 31st December every 
year. 

   RÌUPsh Â£μ[PÎ¼¸¢x SøÓ¢u ö\À C¸¨¦ 
•øÓ°À C¯¢vμzøu ÂØÓuß ‰»® HØ£mh 
|mhzøu PnUQkP. 1.1.2017À C¯¢vμzvÀ ©v¨¦ 
¹. 1,50,000 C¯¢vμzvß «uõÚ ÷u´©õÚ® 10% 
SøÓ¢u ö\À C¸¨¦ •øÓ°À JxUP 31.12.18À 
C¯¢vμzøu ÂØÓx ¹. 78,000. JÆöÁõ¸ Bsk® 
i\®£º 31® ÷uv PnUS •iUP¨£k®. 

Or 

 (b) Explain the various methods of computing 
depreciation. 

   ÷u´©õÚ® PshÔ²® £À÷ÁÖ •øÓPøÍ ÂÁ›. 

14. (a) Explain the essential features of receipts and 
payments account. 

   ö£ÖuÀ ö\¾zxuÀ PnUQÝøh¯ ÷£õx©õÚ 
]Ó¨£®\[PøÍ ÂÁ›. 

Or 

 (b) From the following particulars calculate the Net 
profit  

 Rs. 

Gross profit 25,000

Salaries 5,600

Insurance 200

Discount received 300

Discount allowed 400
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Commission received 100

Advertisement 450

Taxes printing and stationary 525

Interest on Loan 2,680
 
  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x {Pμ »õ£zøu PshÔP.

  

 ¹. 

ö©õzu »õ£® 25,000

\®£Í® 5,600

Põ¨¥k 200

ö£ØÓ Ámh® 300

öPõkzu Ámh® 400

ö\¾zv¯ uμS 100

ÂÍ®£μ® 450

Á›, Aa_ ©ØÖ® GÊxö£õ¸Ò 525

Phß «x Ámi 2,680

15. (a) A partner has withdrawn the following sums of 
money during the half year ended 31.12.2020.  

  

Due Date Amount

1st August 2020 2,000

18th August 2020 200

3rd October 2020 50

18th December 2020 1,000

  Find the average due date. 
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  31.12.2020 AßøÓ¯ Aøμ¯õsk CÖv°À 
¤ßÁ¸® öuõøPPøÍ TmhõÎ J¸Áº 
Gkzv¸UQßÓõº. 
uÁøn |õÒ öuõøP ¹.

1 BPìm 2020 2,000

18 BPìm 2020 200

3 AU÷hõ£º 2020 50

18 i\®£º 2020 1,000

  \μõ\› uÁøn |õÒ – PõsP. 

Or 

 (b) Explain the different methods of Calculating 
interest in Account Current. 

  |øh•øÓ PnUQÀ Ámiø¯ PnUQkÁuØPõÚ 
£À÷ÁÖ •øÓPøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following transactions prepare Ledger Account.  
  Rs. 

2017, June 1 Started business  
with cash 

1,00,000

June 5   Paid into bank  40,000

June 8 Goods purchased for 
cash from Amma 10,000

June 10 Salary paid to  
Manager Mr. Nijan 10,000

June 14 Machinery purchased 
from Selvam 20,000

June 28 Sold goods for cash to 
Nathan 5,000
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 ¤ßÁ¸® |hÁiUøPø¯U öPõsk ÷£÷μkUPnUS u¯õº 
ö\´P. 

  ¹. 

2017, áüß 1 öμõUP® ‰»® 
Bμ®¤zu “Â¯õ£õμ® 1,00,000

áüß 5  Á[Q°À ö\¾zv¯x 40,000
áüß 8 A®©õÂhª¸¢x 

öμõUPzvØS ö£ØÓ 
\μUS 10,000

áüß 10 ÷©»õÍº {μg\ÝUS 
ö\¾zv¯ \®£Í® 10,000

áüß 14 ö\ÀÁÛh® ö£ØÓ 
ö£õÔP»ß 20,000

áüß 28 |õuÝUS öμõUPzvØS 
ÂØÓ \μUS 5,000

17. From the particulars given below, prepare a 
reconciliation of the bank pass book balance with cash 
book balance :  

 Rs. 

Balance as per pass book 1,600 (Cr.)

Balance as per cash book 940 (Dr.)

Unpresented cheques 1,000

Uncleared cheques (inward) 250

 Further : 

 (a)  A cheque for Rs. 100 paid to Vasanth has been 
entered, in error, in the cash column of the cash 
book. 

 (b)  The debit side of the cash book (bank column) has 
been under cash by Rs. 50. 

 (c) The bank commission Rs. 40 has not been reconciled 
in the cash book. 
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 ¤ßÁ¸® ÂÁμzv¼¸¢x Á[Qa \›Pmk® £mi¯ø» 
u¯õ›UP. 

 ¹. 

ö\À÷»miß £i C¸¨¦ 1,600 (Á)

öμõUP Hmiß £i C¸¨¦ 940 (£)

£n® ö\¾zu¨£hõu Põ÷\õø»PÒ 1,000

ÁμÄ øÁUP¨£hõu Põ÷\õø»PÒ 250

 ÷©¾® 

 (A)  Á\¢vUS öPõkzu Põ÷\õø» ¹. 100 uÁÖu»õP 
öμõUP HmiÀ öμõUP¨ £zv°À £v¯¨£mhx. 

 (B) öμõUP HmiÀ (Á[Q £zv) £ØÖ £UP® SøÓÁõP 
Tmh¨£mhx ¹. 50 

 (C) Á[Q PÈÄ öμõUP HmiÀ \› ö\´¯¨£hõux ¹. 40  

18. A company whose accounting year is the calendar year, 
purchased on 1.1.2016 a machine for Rs.30,000. It 
purchased further machinery on 1st October 2016 for 
Rs.20,000 and 1st July 2017 for Rs. 10,000.  
1/3rd machinery installed on 1.1.2016 became obsolete 
and was sold for Rs.3,000. Show the machinery account 
for all the 3 years under Diminishing Balance Method. 
Depreciation is to be provided at 10% p.a. 

J¸ P®ö£Û 1.1.2016 AßÖ ¹. 30,000US Áõ[P¨£mhx. 
Põ»shº Bsk {v¯õshõP EÒÍx. 1, AU÷hõ£º 2016 
AßÓ ¹. 20,000 Tku»õP C¯¢vμ® ö£Ó¨£mhx. ©ØÖ® 
1, áüø» 2017 ¹. 10,000US C¯¢vμ® ö£Ó¨£mhx. 
1.1.2016 AßÖ 1/3 C¯¢vμ® £Êx Aøh¢x  
¹. 30,000US ÂØP¨£mhx. ‰ßÖ BskPÐUPõÚ 
C¯¢vμ PnUøP u¯õº ö\´P.  10% SøÓ¢u C¸¨¦ 
•øÓ°À ÷u´©õÚ® PnUQh¨£kQÓx. 
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19. From the following details prepare a Trading and Profit 
and Loss account for the year ended 31, December 2018.  

 Rs. 

Stock on 1.1.2018 4,000

Purchases 15,000

Sales 30,000

Returns of suppliers 2,000

Returns from customers 1,000

Wages and salaries 5,000

Carriage on purchases 1,000

Carriage on sales 200

Freight 800

Rent (factory) 1,000

Rent (office) . 2,000

General expenses 500

Factory expenses 700

Discount allowed 300

Discount received 400

Commission (Cr) 500

Insurance 300

Adjustments: 

Insurance prepaid 100

Stock on 31.12.2018 6,000

Depreciation on machinery 1,000

Bad debts to be written off 500

Rent (office) outstanding 400
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 31.12.2018À •iÁøh²® BsiØPõÚ Â¯õ£õμ C»õ£ 
|mh PnUS u¯õ›UPÄ®. 

 ¹. 

\μUQ¸¨¦ (1.1.2018) 4,000

öPõÒ •uÀ 15,000

ÂØ£øÚ 30,000

öPõÒ•uÀ v¸¨£® 2,000

ÂØ£øÚ v¸¨£® 1,000

T¼PÒ ©ØÖ® \®£Í[PÒ 5,000

öPõÒ•uÀ «uõÚ Ási \zu® 1,000

ÂØ£øÚ «uõÚ Ási \zu® 200

Ási \zu® 800

ÁõhøP (Bø») 1,000

ÁõhøP (A¾Á»P®) 2,000

ö£õxa ö\»ÄPÒ 500

Bø»a ö\»ÄPÒ 700

uÒÐ£i AÝ©vzux 300

uÒÐ£i ö£ØÓx 400

PÈÄ (Á) 500

Põ¨¥k 300

\›UPmhÀPÒ : 

Põ¨¥k •ßTmi ö\¾zv¯x 100

\μUS (31.12.2018) 6,000

ö£õÔÁøP «uõÚ ÷u´©õÚ® 1,000

ÁμõUPhß ÷£õUöPÊv¯x 500

A¾Á»P ÁõhøP ö\¾zu¨£h ÷Ási¯x 400
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20. A partner has withdrawn the following sums of money 
during the half year ending 30.06.2020.  

 Rs. 

Jan. 06, 2020 3,000 

Feb.08 2,500 

Mar.01 1,500 

Mar. 16 2,000 

April, 10 4,000 

May, 06 3,000 

June, 08 5,000 

  
 Interest is to be charged 6.5 % p.a. Find out the average 

due date and calculate the amount of interest to be 
debited to the partner. 

 
 30.06.2020 AßÖ •iÁøh¢u Aøμ¯õsiÀ J¸ 

£[Suõμº ¤ßÁ¸® öuõøPPøÍ GkzxÒÍõº.  

 ¹. 

áÚÁ› 15, 2020 3,000 

¤¨μÁ›, 08 2,500 

©õºa, 10 1,500 

©õºa, 26 2,000 

H¨μÀ, 20 4,000 

÷©, 16 3,000 

áüß, 18 5,000 

 BsiØS 6.5 % Ámi Á`¼UP¨£h ÷Ásk®. \μõ\› 
uÁøn |õøÍ PnUQmk £[Suõμ¸US ö\¾zu ÷Ási¯ 
Ámiz öuõøP°øÚ PnUQkP. 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the term ‘Trade’? 

 ÁºzuP® GßÓõÀ GßÚ? 

2. Define - ‘Business’. 

 ‘ÁoP®’ – Áøμ¯Ö. 

3. What is ‘sole proprietorship’? 

 ‘uÛ¯õÒ ÁoP®’ GßÓõÀ GßÚ? 

4. Give the meaning of the Co-operative society. 

 TmkÓÄ \[P® Gß£uß ö£õ¸Ò u¸P. 

5. What is meant by Representative Firm?  

 ¤μv{vzxÁ {Ö©® GßÓõÀ GßÚ? 

6. What is the business size of the enterprise? 

ÁoP {ÖÁÚzvß AÍÄ GßÚ? 

Sub. Code 
22BCO1C2 
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7. Who is Director?  

 C¯USÚº Gß£Áº ¯õº? 

8. What does oligarchy mean in business? 

 ÁoPzvÀ ußÚ»USÊ GßÓõÀ GßÚ? 

9. What do Public Utilities mean?  

 ö£õx¨£¯ß {ÖÁ[PÒ GßÓõÀ GßÚ? 

10. What is public enterprise? 

 ö£õx {ÖÁÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain the divisions of business.  

  ÁoPzvß ¤›ÄPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) Bring out the qualities of a good businessman. 

  J¸ |À» öuõÈ»v£›ß Sn[PøÍ öÁÎUöPõsk 
Á¸P. 

12. (a) Enlighten the features of a sole trader. 

  J¸ uÛ ÁºzuP›ß A®\[PøÍ ÂÍUSP. 

Or 

 (b) List out the advantages of sole proprietorship. 

  uÛ¯õÒ ÁoPzvß |ßø©PøÍ £mi¯¼kP. 

13. (a) State the benefits of economics of large scale 
production. 

  ÷£μÍÄ EØ£zv°ÚõÀ HØ£k® ö£õ¸Íõuõμ 
|ßø©PøÍ _mkUPõmkP. 

Or 
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 (b) Give an outline of evils of a large business. 

  ÷£μÍÄ ÁoPzvß wø©PøÍ ÷PõimkU PõmkP. 

14. (a) What is democratization? Explain its features. 

  áÚ|õ¯P©¯©õUPÀ GßÓõÀ GßÚ? Auß 
A®\[PøÍ ÂÍUSP. 

Or 

 (b) Explain the duties and responsibilities of a director. 

  {Ö© C¯USÚ›ß Phø©PÒ ©ØÖ® ö£õÖ¨¦PøÍ 
ÂÍUSP. 

15. (a) Describe the problems of administration in public 
enterprises. 

  ö£õxzxøÓ {ÖÁÚ[PøÍ {ºÁQ¨£vÀ EÒÍ 
]UPÀPøÍ ÂÁ›UP. 

Or 

 (b) List out the various forms of government regulation. 

  Aμ\õ[P JÊ[S•øÓ°ß £À÷ÁÖ ÁiÁ[PøÍ 
£mi¯¼kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Indicate the good qualities of a businessman. 

 J¸ öuõÈ»v£›ß ]Ó¢u uSv°øÚ SÔ¨¤kP. 

17. Distinction between sole trader and partnership. 

 uÛ ÁoP E›ø©¯õÍº ©ØÖ® Tmhõsø© Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPøÍ ÂÁ›UP. 

18. Confer the various factors effecting optimum size of a 
firm. 

 J¸ {ÖÁÚzvß EP¢u AÍøÁ £õvUS® PõμoPøÍ 
ÁÇ[SP. 
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19. Elucidate the rights of shareholders in a company. 

 J¸ {ÖÁÚzvÀ C¸US® £[SuõμºPÎß E›ø©PøÍ 
öuÎÄ£kzxP. 

20. Discuss in detail Industrial policy in India. 

C¢v¯õÂß öuõÈÀ öPõÒøP £ØÔ Â›ÁõP ÂÁõvUP. 

  
———————— 
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Commerce 

Allied — FINANCIAL ACCOUNTING — I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. List any two functions of accounting. 

 PnUQ¯¼ß H÷uÝ® Cμsk £oPøÍ¨ TÖP. 

2. What is balancing of an account? 

 PnUøP C¸¨¦U PmkuÀ GßÓõÀ GßÚ? 

3. Define bill of exchange. 

 ©õØÖa ^miß ÁøμÂ»UPn® u¸P. 

4. What is credit note? 

 ÁμÄ SÔ¨¦ GßÓõÀ GßÚ? 

5. What is meant by bank overdraft? 

 Á[Q ÷©ÀÁøμ¨£ØÖ GßÓõÀ GßÚ? 

6. Define bank reconciliation statement. 

 Á[Qa \›Pmk® £mi¯ø» Áøμ¯Ö. 

7. State the meaning of rectification of errors. 

 ¤øÇz v¸zu® GßÓõÀ GßÚ? 

Sub. Code 
22BCOA1 
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8. What is meant by error of partial omission? 

 £Sv Âk¤øÇ GßÓõÀ GßÚ? 

9. What is annuity method? 

 Bskz öuõøP •øÓ°À ÷u´©õÚ® PnUQkuÀ GßÓõÀ 
GßÚ? 

10. Define sinking fund method. 

 ÷u´©õÚ {v•øÓ&Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Thamizhaban started book selling business on  
1st January, 2018. Following are the transactions 
took place in his business for the month of  
January, 2018. Prepare ledger :  

1  Started business with cash Rs. 3,00,000 

2 Opened bank account by depositing Rs. 2,00,000 

5 Goods bought from Tamil Nadu text book corporation 
for cash Rs. 10,000 

15 Sold goods to RN Traders for cash Rs. 5,000 

22 Purchased goods from X for Rs. 15,000 and the 
payment is made through net banking 

25 Sold goods to Y and Co. for Rs. 30,000 and the 
payment is received through NEFT 
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  uªÇß£ß Gß£Áº 2018 áÚÁ› 1 AßÖ ¦zuP® 
ÂØS® öuõÈø»z öuõh[QÚõº. 2018 áÚÁ› 
©õuzvØPõÚ AÁ¸øh¯ öuõÈÀ |hÁiUøPPÒ 
¤ßÁ¸©õÖ. ÷£÷μmkU PnUøP u¯õ›UPÄ®. 

2018  
1  öμõUPzxhß öuõÈÀ öuõh[Q¯x  

¹. 3,00,000 
2 Á[Q PnUøP öuõh[SÁuØPõÚ £n® 

ö\¾zv¯x ¹. 2,00,000 
5 \μUSPÒ Áõ[SÁuØPõÚ uªÌ|õk £õh¡À 

PÇPzvØS öμõUP® ö\¾zv¯x ¹. 10,000 
15 ¦zuP[PøÍ RN {ÖÁÚzvØS öμõUPzvØS 

ÂØÓx ¹.  5,000 
22 \μUSPøÍ X {ÖÁÚzvhª¸¢x Áõ[Q  

¹. 15,000  Cøn¯Á[Q ‰»©õP 
ö\¾zu¨£mhx 

25 Y Gß£Á¸US \μUSPÒ ÂØ£øÚ ö\´¯¨£mk 
AÁ›hª¸¢x öuõøP ÷u]¯ ªßÚq {v 
£›©õØÓ® (NEFT) ‰»® ö£Ó¨£mhx  
¹. 30,000  

Or 

 (b) Distinguish between journal and ledger. 

  SÔ¨÷£miøÚ ÷£÷μmkhß ÷ÁÖ£kzxP. 

12. (a) Enter the following transactions in the Purchases 
book of M/s. Subhashree Electric Co., which deals in 
electric goods. 

2021  

April  

5 Purchased from Karthik Electric Co., on credit 

10 Electric iron box @ Rs. 2,500 each 

5 Electric stoves @ Rs. 2,000 each 

19 Purchased on credit from Khaitan Electric Co., 
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2021  

April  

3 Electric heaters @ Rs. 6,000 each 

25 Purchased from Polar Electric Co., on credit 

10 Fans @ Rs. 2,000 each 

29 Purchased from M & Co. for cash 

10 Electric stoves @ Rs. 3,000 each 

  ¤ßÁ¸® |hÁiUøPPøÍ ªß\õuÚ[PøÍ 
ÂØ£øÚa ö\´²® _£ÿ ªß ö£õ¸Ò {ÖÁÚzvß 
öPõÒ•uÀ HmiÀ £vÄ ö\´P. 

2021  

H¨μÀ  

5 PõºzvU ªß ö£õ¸Ò {ÖÁÚzvhª¸¢x PhÝUS 
Áõ[Q¯x 

10 ªß \»øÁ¨ ö£miPÒ JßÖ ¹.2,500 Ãu® 

5 ªß\õμ Ak¨¦PÒ JßÖ ¹.2,000 Ãu® 

19 ÷Puõß ªß ö£õ¸ÍPzvhª¸¢x PhÝUS Áõ[Q¯x

3 ªß\õμ }º`÷hØÔ JßÖ ¹.6,000 Ãu® 

25 ÷£õ»õº ªß ö£õ¸Ò ÂØ£øÚ¯Pzvhª¸¢x PhÝUS 
Áõ[Q¯x 

10 ªß Â]ÔPÒ JßÖ ¹.2,000 Ãu® 

29 M {ÖÁÚzvhª¸¢x öμõUPzvØS Áõ[Q¯x 

10 ªß\õμ® Ak¨¦PÒ JßÖ ¹. 3,000 Ãu® 

Or 
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 (b) Enter the following transactions in a single colunm 
cash book of Ramalingam for month of July, 2020. 

1 Cash in hand Rs. 32,000 
5 Received from Keerthana Rs. 5,000 
6 Paid packing charges in cash Rs. 300 
7 Cash purchases Rs. 12,400 
8 Sold goods for cash Rs. 2,600 

10 Paid salary to manager in cash Rs. 7,000 
11 Paid to Bala Rs. 3,000 
12 Purchased goods from Bose Rs. 2,500 
24 Cash deposited into bank through CDM Rs. 4,000 
27 Withdraw cash from bank Rs. 2,000 
31 Paid office rent in cash Rs. 6,000 

  Cμõ©¼[P® Gß£Á›ß 2020 áúø» ©õuzvØPõÚ 
¤ßÁ¸® |hÁiUøPPÎ¼¸¢x uÛ¨£zv öμõUP® 
Hmøhz u¯õ›UPÄ® 

1 øP öμõUP® ¹. 32,000 

5 RºzuÚõÂhª¸¢x öμõUP® ö£ØÓx ¹. 5,000 

6 Pmk©a ö\»ÄUPõÚ £n® öPõkzux ¹. 300 

7 öμõUP® öPõÒ•uÀ ¹. 12,400 

8 öμõUPzvØS \μUS ÂØÓx ¹. 2,600 

10÷©»õÍ¸US \®£Í® öμõUP©õPz uμ¨£mhx ¹. 7,000 

11£õ»õ Gß£Á¸US öμõUP® öPõkzux 3,000 

12÷£õì Gß£Á›hª¸¢x PhÝUS öPõÒ•uÀ ö\´ux  
¹. 2,500 

24£n® øÁ¨¦ C¯¢vμzvß ‰»® Á[QUS ö\¾zv¯ 
öμõUP® ¹. 4,000 

27Á[Q°¼¸¢x £n® Gkzux ¹. 2,000 

31A¾Á»P ÁõhøP öμõUP©õPa ö\¾zv¯x ¹. 6,000 
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13. (a) From the following information, prepare bank 
reconciliation statement to find out balance as per 
bank statement on 31st March, 2022. 

  (i) Cheques deposited but not yet collected by the 
bank 500 

  (ii) Cheque issued but not yet presented for 
payment 1,000 

  (iii) Bank interest charged 100 

  (iv) Rent paid by bank as per standing instruction 
200 

  (v) Cash book balance 300. 

  RÌPsh uPÁÀPÎ¼¸¢x 2022 ©õºa 31, B® 
|õÍßøÓ¯ Á[Qa \›Pmk® £mi¯À u¯õº ö\´x 
Á[Q AÔUøP°ß £i¯õÚ C¸¨¤øÚU 
PshÔ¯Ä®. 

  (i) Á[Q°À øÁ¨¦ ö\´u Põ÷\õø» Á`¼zx 
ÁμÄ øÁUP¨£hõux 500 

  (ii) Âkzu Põ÷\õø» ö\¾zxøPUS CxÁøμ 
•ßÛø»¨ £kzu¨£hõux 1,000 

  (iii) Á[Q¯õÀ ¤izu® ö\´¯¨£mh Ámi 100 

  (iv) {ø» AÔÄÖzu¼ß£i Á[Q ö\¾zv¯ 
ÁõhøP 200 

  (v) öμõUP Hmiß £i C¸¨¦ 300. 

Or 

 (b) List out any five reasons for Prepare of bank 
reconciliation statement. 

  Á[Q \›Pmk® £mi¯ø» u¯õ›¨£uØPõÚ H÷uÝ® 
I¢x Põμn[PøÍ £mi¯¼k[PÒ. 



S–5084 

  

  7

14. (a) Rectify the following errors before preparing trial 
balance : 

  (i) The total of purchases book was carried 
forward Rs. 90 less. 

  (ii) The total of purchases book was carried 
forward Rs. 180 more. 

  (iii) The total of sales book was carried forward  
Rs. 270 less. 

  (iv) The total of sales returns book was carried 
forward Rs. 360 more. 

  (v) The total of purchase returns book was carried 
forward Rs. 450 less. 

  C¸¨£õ´Ä u¯õ›US® •ß RÌPsh ¤øÇPøÍz 
v¸zu® ö\´¯Ä®. 

  (i) öPõÒ•uÀ Hmiß ö©õzuzvÀ ¹.90 SøÓÁõP 
•ß Gkzx GÊu¨£mkÒÍx 

  (ii) öPõÒ•uÀ Hmiß ö©õzuzvÀ ¹.180 
AvP©õP •ß Gkzx GÊu¨£mkÒÍx. 

  (iii) ÂØ£øÚ Hmiß ö©õzuzvÀ ¹.270 SøÓÁõP 
•ß Gkzx GÊu¨£mkÒÍx 

  (iv) ÂØ£øÚz v¸¨£ Hmiß ö©õzuzvÀ ¹.360 
AvP©õP •ß Gkzx GÊu¨£mkÒÍx 

  (v) öPõÒ•uÀ v¸¨£ Hmiß ö©õzuzvÀ ¹.450 
SøÓÁõP •ß Gkzx GÊu¨£mkÒÍx. 

Or 

 (b) The accountant of a firm located the following errors 
after preparing the trial balance. Rectify them 
assuming that there is a suspense account. 

  (i) Machinery purchased for Rs. 3,500 was 
debited to purchases account. 

  (ii) Rs. 1,800 paid to Raina as salary was debited 
to his personal account. 
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  (iii) Interest received Rs. 200 was credited to 
commission account. 

  (iv) Goods worth Rs. 1,800 purchased from 
Amudhanila on credit was not recorded in the 
books of accounts. 

  (v) Used furniture sold for Rs. 350 was credited to 
sales account. 

  J¸ PnUPõÍº RÌUPõq® ¤øÇPøÍ C¸¨£õ´Ä 
u¯›zu ¤ß PshÔ¢uõº AÚõ©zxU PnUS EÒÍx 
GÚU P¸v A¨¤øÇPøÍz v¸zu® ö\´¯Ä®. 

  (i) C¯¢vμ® ¹.3,500&US Áõ[Q¯x öPõÒ•uÀ 
PnUQÀ £ØÖ øÁUP¨£mkÒÍx. 

  (ii) öμ´ÚõÄUS ¹.1,800 \®£Í® ö\¾zv¯x 
AÁº PnUQÀ £ØÖ øÁUP¨£mhx. 

  (iii) Ámi ö£ØÓx ¹.200 uμSU PnUQÀ ÁμÄ 
øÁUP¨£mkÒÍx 

  (iv) A•u{»õÂhª¸¢x PhÝUS ¹.1,800&US 
\μUS Áõ[Q¯x PnUS HkPÎÀ £vÄ 
ö\´¯¨£hÂÀø» 

  (v) £¯ß£kzu¨£mh AøÓP»ß ¹.350&US ÂØÓx 
ÂØ£øÚU PnUQÀ ÁμÄ øÁUP¨£mkÒÍx.  

15.  (a) From the following balances extracted from the 
books of Harish and sons, prepare trading account 
for the year ended 31st March, 2020. 

Particulars Rs. 

Opening Stock 16,500

Purchases 45,000

Sales 72,000

Purchases return 500 

Sales returns 1,500
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Particulars Rs. 

Carriage inwards 1,200

Wages 4,800

Fuel and wages 3,200

Closing stock 18,000

  RÌUPõq® uPÁÀPÎ¼¸¢x í›è {ÖÁÚzvß 

HkPÎÀ 2020, ©õºa 31 B® |õ÷Íõk •iÁøh²® 

BsiØS›¯ Â¯õ£õμU PnUS u¯õ›UPÄ® 

ÂÁμ® ¹. 

öuõhUPa \μUQ¸¨¦ 16,500

öPõÒ•uÀ 45,000

ÂØ£øÚ 72,000

öPõÒ•uÀ v¸¨£® 500 

ÂØ£øÚz v¸¨£® 1,500

EÒyUSU T¼ 1,200

T¼ 4,800

G›ö£õ¸Ò ©ØÖ® ªß\Uv 3,200

CÖva \μUQ¸¨¦ 18,000

Or 



S–5084 

  

  10

 (b) A firm acquired a machine on 1st April 2021 at a 
cost of Rs. 50,000. Its life is 6 years. The firm writes 
off depreciation @ 30% p.a. on the diminishing 
balance method. The firm closes its books on  
31st December every year. Show the machinery 
account and depreciation account for three years 
starting from 1st April 2021. 

  H¨μÀ 1, 22021 AßÖ J¸ {ÖÁÚ® ¹.50,000 
©v¨¦ÒÍ C¯¢vμ® JßøÓ Áõ[Q¯x. Auß 
ÁõÌ|õÒ 6 BskPÒ. SøÓ¢x ö\À ©v¨¦ 
•øÓ°À Bsk÷uõÖ® 30% ÷u´©õÚ® }UP¨£h 
÷Ásk®. JÆöÁõ¸ Bsk® PnUSPÒ i\®£º 
31&À •iUP¨ö£ÖQßÓÚ. H¨μÀ 1, 2021 •uÀ 
‰ßÖ BskPÐUS C¯¢vμU PnUS ©ØÖ® 
÷u´©õÚU PnUS u¯õ›UPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare journal entries, ledger postings and trial balance 
in the books of Kumar. 

2021  

January  

1 Commenced business with capital Rs. 5,00,000 

5 Bought furniture for cash Rs.6,000 

10 Purchased goods for cash Rs.10,000 

15 Bought goods on credit from Jeyanthi Rs.25,000 

18 Returned goods to Jeyanthi Rs.2,500 

20 Sold goods for cash Rs.32,000 

25 Sold goods to Elizabeth on credit Rs.72,000 

30 Paid salaries to Krishnan by cash Rs.7,000 

31 Received commission from Kumar by cash Rs.2,800

31 Received cash from Elizabeth Rs.22,000 
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 C¢u |hÁiUøPPÐUPõÚ SÔ¨÷£mk¨ £vÄPÒ, 
÷£÷μmkU PnUSPÒ ©ØÖ® C¸¨£õ´Ä BQ¯øÁ 
S©õ›ß HkPÎÀ u¯õ›UPÄ® 

2021  

áÚÁ›  

1 öuõÈÀ öuõh[P Cmh •uÀ ¹. 5,00,000 

5 öμõUPzvØS AøÓP»ß Áõ[Q¯x ¹. 6,000 

10 öμõUPzvØS öPõÒ•uÀ ö\´ux ¹.10,000 

15 öá¯¢v°h® PhÝUS \μUSPÒ Áõ[Q¯x 
¹.25,000 

18 öá¯¢vUS v¸¨¤¯ \μUSPÒ ¹.2,500 

20 öμõUPzvØS \μUSPÒ ÂØÓx ¹.32,000 

25 G¼\ö£zxUS PhÝUS \μUSPøÍ ÂØÓx 
¹.72,000 

30 Q¸ènÝUS öμõUP©õP \®£Í® öPõkzux 
¹.7,000 

31 S©õ›hª¸¢x öμõUP©õP PÈÄ¨ ö£ØÓx ¹.2,800

31 G¼\ö£zvhª¸¢x öμõUP® ö£ØÓx ¹.22,000 

17. Explain the meaning of imprest system of petty cash 
book. 

 ]À»øÓ öμõUP HmiÀ •ß £n «m¦ •øÓ°ß ö£õ¸øÍ 
ÂÍUSP. 

18. From the following particulars of Kamakshi traders, 
prepare a bank reconciliation statement as on  
31st March, 2021.  

 (a) Debit balance as per cash book Rs. 10,500 

 (b) Cheque deposited into bank amounting to Rs. 5,500 
credited by bank, but entered twice in the cash book  
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 (c) Cheques issued and presented for payment 
amounting to Rs. 7,000 omitted in the cash book 

 (d) Cheque book charges debited by the bank Rs. 200 
not recorded in the cash book.  

 (e) Cash of Rs. 1,000 deposited by a customer of the 
business in cash deposit machine not recorded in 
the cash book. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Põ©õm] {ÖÁÚzvß 2018 
©õºa 31&® |õÍßøÓ¯ Á[Qa \›Pmk® £mi¯ø» u¯õº 
ö\´P. 

 (A) öμõUP Hmiß £i £ØÔ¸¨¦ ¹.10,500 

 (B) Á[Q°À ö\¾zv¯ Põ÷\õø» ¹.5,500 Á[Q¯õÀ 
ÁμÄ øÁUP¨£mhx. BÚõÀ öμõUP HmiÀ C¸ 
•øÓ £v¯¨£mhx. 

 (C) Âkzu Põ÷\õø» ¹.7,000 ö\¾zxøPUS 
•ßÛø»¨£kzu¨£mhx SÔzx öμõUP HmiÀ £vÄ 
CÀø» 

 (D) Põ÷\õø» ¦zuPU Pmhn® ¹.200 Á[Q¯õÀ £ØÖ 
øÁUP¨£mhx öμõUP HmiÀ £v¯¨£hÂÀø» 

 (E) £n® øÁ¨¦ C¯¢vμ® Áõ°»õP ÁõiUøP¯õÍº 
ö\¾zv¯ ¹.1,000 öμõUP HmiÀ £v¯¨£hÂÀø». 

19. Explain the Errors at different stages of accounting. 

 PnUQ¯¼ß £À÷ÁÖ {ø»PÎÀ {PÊ® ¤øÇPøÍ ÂÁ›. 

20. The following balance are extracted from Mr. Rathna on 
31.12.2022. You are required to prepare trading, profit 
and loss a/c and balance sheet as on that date. 

Particulars Rs. 

Capital 50,000 

Return inwards 5,000 

Discount (Cr.) 800 

Taxes and Insurance 4,000 
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Particulars Rs. 

General expenses 8,000 

Salaries 18,000 

Commission allowed 4,400 

Carriage on purchases 3,600 

Provision for doubtful debts 1,000 

Bad debts written off 1,600 

Bank overdraft 8,400 

Furniture 5,200 

Business premises 40,000 

Creditors 26,600 

Opening stock 44,000 

Debtors 36,000 

Rent received 2,000 

Purchases 2,20,000 

Sales 3,01,000 

 Adjustments : 

 (a) Stock a son 31.12.2021 Rs.40,120 

 (b) Allow interest on capital at 5% p.a. 

 (c) Make a provision of 5% on debtors for bad and 
doubtful debts. 

 (d) Depreciation on Business premises Rs. 600 and 
Furniture Rs. 520. 

 RÌUPõq® ÂÁμ[PøÍU öPõsk 31.12.2022 v¸. μzÚ 
Gß£Á›ß HmiÀ Â¯õ£õμ C»õ£ |mh P/S ©ØÖ® 
C¸¨¦ {ø»U SÔ¨¦ u¯õº ö\´P. 

ÂÁμ® ¹. 
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ÂÁμ® ¹. 

•xÀ 50,000 

EÒv¸¨£® 5,000 

uÒÐ£i (ÁμÄ) 800 

Á› Põ¨¥k 4,000 

ö£õx ö\»ÄPÒ 8,000 

\®£Í® 18,000 

PÈÄ ö\¾zv¯x 4,400 

EÒ yUS T¼ 3,600 

PhÚõÎPÒ «uõÚ I¯UPhß JxURk 1,000 

ÁμõUPhß 1,600 

Á[Q÷©À Áøμ£ØÖ 8,400 

AøÓP»ß 5,200 

ÁoP ÁÍõP® 40,000 

PhÜ¢÷uõº 26,600 

öuõhUP C¸¨¦ 44,000 

PhÚõÎPÒ 36,000 

ÁõhøP ö£ØÓx 2,000 

öPõÒ•uÀ 2,20,000 

ÂØ£øÚ 3,01,000 

 \›UPmkuÀPÒ : 

 (A) CÖva \μUQ¸¨¦ 31.12.2020 ¹.40,120 

 (B) •uÀ «uõÚ Ámi 5% 

 (C) PhÚõÎPÒ «uõÚ ÁμõI¯UPhß JxURk 5% 
E¸ÁõUSP. 

 (D) ÷u´©õÚ® ÁoP ÁÍõP® ¹.600, ©ØÖ® AøÓP»ß 
¹.520. 

——————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 
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Commerce 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is a Promissory notes? 

 EÖvö©õÈ SÔ¨¦ GßÓõÀ GßÚ? 

2. State the meaning of Drawee. 

 ö£Ö£Á›ß ö£õ¸øÍU TÖP. 

3. Write a note on Standard turnover. 

 {ø»¯õÚ ÂØÖ •uÀ £ØÔ SÔ¨¦ u¸P. 

4. Give the meaning of Average Clause. 

 \μõ\› Em¤›Âß AºzuzøuU öPõk. 

5. What is a Non recurring expense? 

 öuõhºa]¯õÚ ö\»Ä GßÓõÀ GßÚ? 

Sub. Code 
22BCO2C1 
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6. State the meaning of value of unsold stock in 

consignment. 

 ÂØ£øÚ°À ÂØP¨£hõu \μUSPÎß ©v¨¤ß ö£õ¸øÍ 

GÊxP. 

7. How joint venture differs from partnership? 

 Tmhõsø©°¼¸¢x Tmk •¯Ø] GÆÁõÖ 

÷ÁÖ£kQÓx? 

8. What is memorandum Joint Venture account? 

 ö©÷©õμõsh® Tmk •¯Ø] PnUS GßÓõÀ GßÚ? 

9. Give any two defects of a single entry. 

 JØøÓ £vÄ •øÓ°ß H÷uÝ® Cμsk SøÓ£õkPøÍU 

öPõk. 

10. Give the meaning of bills payable account. 

 ö\¾zuUTi¯ ¤ÀPÒ PnUQß ö£õ¸øÍU öPõk. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Point out the features of bill of exchange. 

  ©õØÖa^miß ]Ó¨¤¯À¦PøÍU _miUPõmkP. 

Or 

 (b) Before due date of the bill for Rs. 1000, B, the 

acceptor, approaches A, the drawer and pays  

Rs. 400 in cash and requests A to draw another bill 

for Rs. 630. Show the journal entries. 
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  B °ÚõÀ HØP¨£mh ¹. 1,000 UPõÚ Esi¯ø» A 

ö£ÖQÓõº. uÁøn |õÐUS •ß£õP A I AqQ.  
¹. 400 öμõUP® öPõk¨£uõPÄ®. ¦v¯ Esi¯À 

JßøÓ ¹. 630 (Ámi²hß) HØ£uõPÄ® B TÖQÓõº.  

B ÷¯õ\øÚø¯ A HØÖUöPõshõº. SÔ¨÷£mk 
£vÄPøÍz u¸P. 

12. (a) How do you deal with abnormal items and abnormal 
practices in computation of claim for loss of stock? 

  \μUS CÇ¨¦UPõÚ E›ø©÷Põμø»U PnUQkÁvÀ 
EÒÍ A\õuõμn ö£õ¸mPÒ ©ØÖ® A\õuõμn 
|øh•øÓPøÍ GÆÁõÖ øP¯õÒÁx? 

Or 

 (b) From the following data ascertain Gross profit ratio 
for the purpose of computing loss of stock claim: 

 2020 

Rs. 

2021 

Rs. 

2022 

Rs. 

Sales 4,00,000 5,00,000 8,00,000

Purchase 3,00,000 3,60,000 6,30,000

Opening Stock 20,000 40,000 60,000

Closing Stock 40,000 60,000 1,14,000

  ¤ßÁ¸® uμÄPÎ¼¸¢x \μUS E›ø©÷PõμÀ 
CÇ¨ø£U PnUQk® ÷|õUPzvØPõP ö©õzu C»õ£ 
ÂQuzøuU PshÔP. 

 2020 

¹. 

2021 

¹. 

2022 

¹. 

ÂØ£øÚ 4,00,000 5,00,000 8,00,000

öPõÒ•uÀ 3,00,000 3,60,000 6,30,000

Bμ®£ C¸¨¦ 20,000 40,000 60,000

CÖv C¸¨¦ 40,000 60,000 1,14,000
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13. (a) Explain in brief the following items:  

  (i) Consignor and  

  (ii) Consignee. 

  ¤ßÁ¸ÁÚÁØÖÒ _¸UP©õP ÂÍUSP. 

(i) AÝ¨¦£Áº ©ØÖ® 

  (ii) \μUS ö£Ö£Áº 

Or 

 (b) Shri. Saravanan of Madurai sent 300 bicycles 
(which cost Rs.240 each) to Sri. Madhan of Madras 
on consignment basis. Saravanan paid freight of  
Rs. 500 and Rs. 100 as insurance in transit. 
Madhan paid Rs. 50 as cartage and Rs. 200 as 
godown rent. At the end of the year, 60 bicycles 
remained unsold. The selling price of each bicycle in 
Madras was Rs. 280. What should be the value of 
stock unsold? 

  ©xøμ \μÁnß AÁ¸øh¯ •PÁμõQ¯ ö\ßøÚ 
©uÝUS 300 ªvÁsiPøÍ (AhUP Âø»  
¹. 240 Ãu®) AÝ¨¤Úõº. \μÁnß ö\¾zv¯ \zu® 
¹. 500 ©ØÖ® ¹. 100 Põ¨¥k, ©uß ö\¾zv¯ 
yUSU T¼ ¹. 50 ©ØÖ® £shPa \õø» ÁõhøP  
¹. 200 BS®. C¢u Bsk CÖv°À  60 
ªvÁsiPÒ ÂØPõ©À C¸¢ux. Cuß \¢øu Âø» 
¹. 280 Ãu® ÂØ£øÚ ö\´¯¨£mhx. CuÝøh¯ 
ÂØPõ \μUQß ©v¨ø£U PõsP. 

14. (a) Describe the different methods of recording 
transactions relating to joint venture. 

  Cøn ÂøÚ öuõhº£õÚ  £›ÁºzuøÚPøÍ £vÄ 
ö\´ÁuØPõÚ £À÷ÁÖ •øÓPøÍ ÂÁ›. 

Or 
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 (b) A and B were partners in a joint venture sharing 
profits and losses in the ratio of 4:1. A supplied 
goods to the value of Rs. 50,000 and incurred 
expenses of Rs. 5,400. B Supplied goods to value of 
Rs. 14,000 and his expenses amounted to Rs. 800. B 
sold the goods on behalf of joint venture and 
realised Rs. 92,000. B is eligible for a commission of 
5% on sales. B settled the A/c by a bank draft. Give 
the journal entries in the books of A only. 

  A ©ØÖ® B 4:1 GßÓ ÂQuzvÀ C»õ£ |mh[PøÍ¨ 
£Qº¢x öPõÒÐ® Tmk •¯Ø]°À £[SuõμºPÍõP 
C¸¢uÚº. J¸ ÁÇ[P¨£mh ö£õ¸mPÒ ©v¨¦US ¹. 

50,000 ©ØÖ® AuØPõÚ ö\»ÄPÒ ¹. 5,400. B  
ÁÇ[P¨£mh ö£õ¸mPÒ ¹. 14,000 ©ØÖ® AÁμx 

ö\»ÄPÒ ¹. 800. B Tmk •¯Ø]°ß \õº£õP 

ö£õ¸mPøÍ ÂØÖ ¹. 92,000. B ÂØ£øÚ°À 5% 

PªåÝUS uSv²øh¯Áº. B Á[Q Áøμ÷Áõø» 

‰»® P/S I wºzuõº. A ¦zuP[PÎÀ ©mk® 
SÔ¨÷£mk £vÄPøÍz u¸P. 

15.  (a) Distinguish between single entry system and double 
entry system. 

  JØøÓ £vÄ •øÓUS® ©ØÖ® Cμmøh £vÄ 
•øÓUS® EÒÍ ÷ÁÖ£õkPÒ. 

Or 

 (b) Calculate Bills received from customers.  

 Rs. 

B/R Collected (i.e., honoured) 16,000

Opening Balance of B/R 30,000

B/R endorsed in favour of creditors 4,000

B/R dishonoured 2,000

Closing balance of B/R 40,000
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  ÁõiUøP¯õÍºPÎhª¸¢x ö£Ó¨£mh ¤ÀPøÍU 
PnUQkP.  

 ¹. 

ö£ÓzuUP ¤ÀPÒ ÷\P›UP¨£mhÚ (AuõÁx, 
öPÍμÂUP¨£mhx) 

16,000

ö£ÓzuUP ¤ÀPÎÀ öuõhUP C¸¨¦ 30,000

ö£ÓzuUP ¤ÀPÒ PhÚõÎPÐUS BuμÁõP 
A[RP›UP¨£mkÒÍÚ 

4,000

ö£Ó ÷Ási¯ ¤ÀPÒ ©v¨¤Ç¢uÚ 2,000

ö£ÓzuUP ¤ÀPÎß CÖv C¸¨¦ 40,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 1 Jan 2016 Arun draws a bill for Rs. 8,000 on Arjun 
payable after 3 months which Aijun duly accepts. Arjun 
discounts the bill for Rs. 7,750. On the same date, Arjun 
draws a bill for Rs. 8,000 for 3 months on Arun. Arjun 
gets the bill and discounted with his bankers at 12% (pa) 
on the due date, Arun meets his acceptance, but Arjun 
fails to honour his acceptance. The bank has paid Rs. 100 
as noting charges. Give journal entries in the books of 
Arun and Arjun. 

 áÚÁ› 1, À 2016 À A¸s 3 ©õuzvØPõÚ ö\¾zuzuUP 
¹. 8,000 UPõÚ ©õØÖ ^møh GÊvÚõº Aøu Aºáúß 
ö£ØÖUöPõshõº. A÷u ÷uv°À A¸s ¹. 7,750 US 
©õØÖ^møh uÒÐ£i ö\´x ö£ØÓõº. A¸s «x  
¹. 8,000 UPõÚ 3 ©õu ©õØÖ ^møh Aºáúß GÊvÚõº. 
Aºáúß ©õØÖ ^møh ö£ØÖU öPõsk 12% (Á¸hzvØS) 
uÒÐ£i ÷£õP «vø¯ Á[Q¯›hª¸¢x ö£ØÓõÀ, 
SÔ¨¤mh uÁøn ÷uv°À A¸s ©õØÖa ^møh ©v¨¦ 
ö\´uõº. BÚõÀ Aºáúß AÁ¸øh¯ ©õØÖa ^møh 
©v¨¦ ö\´uõº. BÚõÀ Aºáúß AÁ¸øh¯ ©õØÖa^møh 
AÁ©v¨¦ ö\´uõº. Á[Q¯º SÔUøPU Pmhn©õÚ  
¹. 100 I ö\¾zvÚº. A¸s ©ØÖ® Aºáúß HkPÎÀ 
SÔ¨÷£kPøÍz u¸P. 
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17. A fire occurred in the business premises of Ragu on 
19.7.2019. From the following particulars ascertain the 
loss of stock and prepare a claim for insurance. 

 Rs. 

Stock on 1.1.2018 18,360

Stock on 31.12.2018 16,200

Sales for 2018 1,08,000

Purchases for 2018 73,200

Purchases from 1.1.2019 to 19.7.2019 88,200

Sales from 1.1.2019 to 19.7.2019 90,000

 The stocks were always valued at 45% of cost. The stock 
saved from fire was worth Rs. 10,800. The amount of the 
policy was Rs. 37,800. There was an average cause in the 
policy. 

 19.7.2019 AßÖ μSÂß ÁoP ÁÍõPzvÀ w Â£zx 
HØ£mhx. ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x \μUS CÇ¨ø£ 
PshÔ¢x Põ¨¥miØPõÚ E›ø© ÷Põμø» u¯õº ö\´P. 

 ¹. 

1.1.2018 À \μUQ¸¨¦ 18,360

31.12.2018 À \μUQ¸¨¦ 16,200

2018 UPõÚ ÂØ£øÚ 1,08,000

2018 UPõÚ öPõÒ•uÀ 73,200

1.1.2019 •uÀ 19.7.2019 Áøμ öPõÒ•uÀ 88,200

1.1.2019 •uÀ 19.7.2019 Áøμ ÂØ£øÚ 90,000

 \μUSPÒ G¨÷£õx® 45% ö\»ÂÀ ©v¨¤h¨£kQßÓÚ. 
w°À C¸¢x Põ¨£õØÓ¨£mh \μUS ¹. 10,800. £õ¼]°ß 
öuõøP ¹. 37,800. öPõÒøP°À J¸ \μõ\› Põμn® 
C¸¢ux. 
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18. Mr. Ajay of Trichy consigned 100 cases of goods @ Rs. 200 

each to Mr. Vijay of Madurai. Mr. Ajay paid Rs. 200 as 

insurance and Rs. 300 as freight. Mr. Vijay sold the goods 

for Rs. 24,000 and paid Rs. 520 for carriage and Rs. 130 

for godown rent. Mr. Vijay is entitled to 4% commission 

on gross sales. Mr. Vijay settled the account through a 

bank draft. Drew Journal entries and Mr. Vijay account 

in the books of Mr. Ajay. 

 v¸a]ø¯ ÷\º¢u Aá´ Gß£Áº, ©xøμø¯ ÷\º¢x Âá´ 

Gß£Á¸US 100 ö£mhP[PøÍ ¹. 200 Ãu® 

AÝ¨¤ÒÍõº. v¸. Aá´ Põ¨¥k ¹. 200 ©ØÖ® ¹. 300 

Pmhn® ö\¾zv²ÒÍõº. v¸. Âá´ A¨ö£mhP[PøÍ ¹. 

24,000 ÂØÖÒÍõº. AuØPõÚ ö\»Ä APØÖ Pmhn® ¹. 

520 ©ØÖ® ¹. 130. £shP Qmh[Q ÁõhøPUS® BS®. 

v¸. Âá´ 4% PÈÄ E›¯uõS®. AÁº «u® öuõøPø¯ 

Á[Q ÷Pm¦ Põ÷\õø» ‰»® wºÄ ö\´QÓõº. v¸. Aá´ 

HmiÀ ÷£÷μkPU PnUQÐ® Âá´ PnUS® Põs¤. 

19. A and B entered into a joint venture to share the profit 

and losses in the ratio of 3:2. The transactions relating to 

joint venture were as follows: 

 A  

Rs. 

B  

Rs. 

Material supplied 20,000 30,000

Insurance 1,200 900 

Freight – 1,400 

Sale proceed 30,000 35,000

 Assuming joint-venture is completed show the journal 

entries in the books of both parties. 
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 A ©ØÖ® B GÝ® C¸Áº •øÓ÷¯ 3:2 GÝ® ÂQuzvÀ 
C»õ£ |mhºuøu £Qº¢x öPõÒÐ® Ai¨£øh°À Cøn 
ÂøÚ JßÖ ÷©ØöPõshÚº. A¢u Cøn–ÂøÚ SÔ¨¦ 
|hÁiUøPPÍõÁÚ: 

 A ¹. B ¹. 

\μUS AÎzux 20,000 30,000

Põ¨¥k ö\¾zv¯x 1,200 900 

\zu® ö\¾zv¯x – 1,400 

ÂØ£øÚ £n® ö£ØÖU öPõshx 30,000 35,000

 Cøn ÂøÚ •ØÖ¨ ö£ØÓx GÚU öPõsk C¸ uμ¨÷£õº 
HkPÎ¾® SÔ¨÷£mk¨ £vÄPøÍ u¸P. 

20. Mani keeps his books under single entry system. The  
assets and liabilities position on31 December 2020 and 
2021 were as follows: 

Particulars 31–12-20 31–12–21

Cash in hand 200 200 

Cash at bank 3,000 2,000 

Stock in trade 20,000 19,000 

Sundry debtors 8,500 14,000 

Furniture 1,800 1,500 

Plant and machinery 15,000 27,000 

Sundry creditors 22,000 29,000 

 During the year, Mani, introduced a further capital of  
Rs. 5,000 in to the business and withdrew Rs. 750 p.m. 
From the given details prepare a statement show the 
profit and loss A/c. 
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 ©o uÚx PnUSPøÍ JØøÓ¨ £vÄ •øÓ°ß RÌ 
øÁzxÒÍõº. 31.12.2020 ©ØÖ® 31.12.2021 BQ¯ 
÷uvPÎÀ AÁ¸øh¯ ö\õzx ©ØÖ® ö£õÖ¨¦PÒ 
¤ßÁ¸©õÖ: 

ÂÁμ[PÒ 31–12-20 31–12–21

öμõUP C¸¨¦ 200 200 

Á[Q C¸¨¦ 3,000 2,000 

\μUQ¸¨¦ 20,000 19,000 

£Ø£» PhÚõÎPÒ 8,500 14,000 

uÍ£õh[PÒ 1,800 1,500 

ö£õÔ ©ØÖ® G¢vμ® 15,000 27,000 

£Ø£» PhÜz÷uõº 22,000 29,000 

 A¢u BsiÀ ©o ¹. 5,000 TkuÀ •u¼mhõº. ÷©¾® 
AÁº ©õu® JßÖUS ¹. 750 Ãu® GkzxU öPõshõº. 
CÆÂÍUP[PÎ¼¸¢x C»õ£ |mh AÔUøPø¯ u¯õ›UP. 

  
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2024 

Second Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define ‘management’. 

 ‘÷©»õsø©’ Áøμ¯Ö. 

2. What is ‘staffing’? 

 ‘£o¯õÍºPÒ’ GßÓõÀ GßÚ? 

3. Define ‘programme’. 

 ‘{PÌa]’ Áøμ¯Ö. 

4. State any two objectives of planning. 

 vmhªku¼ß ÷|õUP[PÎÀ CμsiøÚU TÖP. 

5. What do you mean by ‘centralization’? 

 ‘ø©¯¨£kzxuÀ’ GßÓõÀ GßÚ? 

6. Define ‘span of management’. 

 ‘÷©»õsø© Ãaö\Àø»’ Áøμ¯Ö. 
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7. Give the meaning of ‘direction’. 

 ‘C¯USÂzuÀ’ Gß£uß ö£õ¸Ò u¸P. 

8. Define ‘motivation’. 

 ‘ö\¯¿UP®’ Áøμ¯Ö. 

9. What is meant by ‘controlling’? 

 ‘Pmk¨£kzxuÀ’ GßÓõÀ GßÚ? 

10. Explain ‘PERT’. 

 ‘PERT’ ÂÍUSP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the nature of management. 

  ÷©»õsø©°ß C¯À¦PøÍ TÖP. 

Or 

 (b) Indicate any five contributions of Henry Fayol. 

  öíßÔ ÷£¯¼ß ÷©»õsø© SÔzu H÷uÝ® I¢x 
£[PÎ¨¦PøÍ SÔ¨¤kP. 

12. (a) Point out the advantages of planning. 

  vmhªku¼ß |ßø©PøÍ SÔ¨¤kP. 

Or 

 (b) Explain the decision making process. 

  •iöÁkzu¼À EÒÍ £i{ø»PøÍ ÂÍUSP. 
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13. (a) Mention the principles of organising. 

  Aø©¨¦ •øÓ°ß ÷Põm£õkPøÍ SÔ¨¤kP. 

Or 

 (b) State the methods of performance appraisal. 

  ö\¯ÀvÓß ©v¨¤h¼ß •øÓPøÍ TÖP. 

14. (a) What are the barriers of communication? 

  uPÁÀ öuõhº¤À EÒÍ uøhPÒ ¯õøÁ? 

Or 

 (b) Explain Maslow’s need hierarchy theory of 
motivation.  

  ©õì÷»õÂß ÷uøÁ°ß £izuμ[PÎß ö\¯¿UP 
÷Põm£õmiøÚ ÂÍUSP. 

15.  (a) Describe the various controlling techniques. 

  Pmk¨£kzxu¼ß £À÷ÁÖ •øÓPøÍ ÂÁ›. 

Or 

 (b) Explain the need for controlling. 

  Pmk¨£kzxu¼ß AÁ]¯zøu ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enumerate the various functions of management. 

 ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÍUSP. 

17. Discuss the guidelines for effective planning. 

 ]Ó¢u vmhªku¼ß ÁÈPõmkuÀPøÍ ÂÁ›. 
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18. What are the bases of departmentalization? 

 xøÓ©¯©õUP¼ß £À÷ÁÖ Ai¨£øh TÖPÒ ¯õøÁ? 

19. State the principles of direction. 

 C¯USÂzu¼ß ÷Põm£õkPøÍ TÖP. 

20. List out the steps in controlling. 

 Pmk¨£kzxu¼À EÒÍ £i{ø»PøÍ £mi¯¼kP. 

———————— 
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Allied – FINANCIAL ACCOUNTING – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is average due data? 

 \μõ\› uÁøn |õÒ GßÓõÀ GßÚ? 

2. State the meaning of product method of account current. 

 PnUS |h¨¦ u¯õ›¨¦ •øÓ Gß£uß ö£õ¸øÍU TÖP. 

3. What is receipts and payments account? 

 ö£ÖuÀ ö\¾zxuÀ PnUS GßÓõÀ GßÚ? 

4. What do you mean by donation? 

 |ßöPõøh SÔzx }Âº AÔÁx ¯õx? 

5. What is self balancing ledger? 

 PhÚõÎ ÷£÷μk GßÓõÀ GßÚ? 

6. What is general ledger? 

 ö£õx ÷£÷μk GßÓõÀ GßÚ? 

7. Define single entry system. 

 JØøÓ¨ £vÄ •øÓ°øÚ Áøμ¯Ö. 

Sub. Code 
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8. What is creditors account? 

 PhÚõÍºPÒ PnUS GßÓõÀ GßÚ? 

9. What do you mean by depreciation? 

 ÷u´©õÚ® SÔzx }Âº AÔÁx ¯õx? 

10. What is diminishing balance method? 

 ÷u´©õÚ® SøÓ¢u ö\À C¸¨¦ {ø» •øÓ GßÓõÀ 
GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following information, Calculate average 
due date. 

 Rs. 

January 10, 2017 2,000 

February 18, 2017 1,200 

March 05, 2017 600 

April 12, 2017 800 

May 20, 2017 1,000 

June 01, 2017 600 

  ¤ßÁ¸® ö\¾zxu¾UPõÚ CÖv |õmPÎ¼¸¢x 
\μõ\› uÁøn |õÒ PnUQkP. 

 ¹. 

áÚÁ› 10, 2017 2,000 

¤¨μÁ› 18, 2017 1,200 

©õºa 05, 2017 600 

H¨μÀ 12, 2017 800 

÷© 20, 2017 1,000 

áúß 01, 2017 600 

Or 
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 (b) Write a short note on red ink interest. 

  ]P¨¦ ø© Ámi SÔzx ]Ö SÔ¨¦ GÊxP. 

12. (a) From the following find out the subscriptions to be 
shown in the Income and Expenditure Account for 
the year ending 31.12.2016. 

 Rs.  

Subscriptions received for 2015 80  

Subscription received for 2016 4,220  

Subscription received for 2017 160 4460 

  There are 450 members, each paying an annual 
subscriptions of Rs. 10, Rs. 90 were in arrears for 
2015 at the beginning of 2016. 

  ¤ßÁ¸® \¢uõ öuõøP 31.12.1016 B® BskS›¯ 
Á¸Áõ´ ö\»ÂÚ PnUQÀ GÆÁõÖ ÷uõßÖ®?  

 ¹.  

\¢uõ öuõøP ö£ØÓx 2015 80  

\¢uõ öuõøP ö£ØÓx 2016 4,220  

\¢uõ öuõøP ö£ØÓx 2017 160 4460 

  \[Pzv¾ÒÍ ö©õzu EÖ¨¤ÚºPÍõQ¯ 450 |£ºPÒ 
Bsk \¢uõÁõP ¹. 10 ö\¾zu ÷Ásk®. 2015 
©ØÖ® 2016 BskUS›¯ £õUQ Á`¼UP ÷Ási¯ 
öuõøPPÒ ¹. 10 ©ØÖ® ¹. 90.  

Or 

 (b) List out any five revenue items. 

  Á¸Áõ°Ú[PÎÀ H÷uÝ® I¢vøÚ £mi¯¼kP. 

13. (a) What are the advantages of self balancing system? 

   uõ÷© \›UPmk® •øÓ°ß |ßø©PÒ ¯õøÁ? 

Or 



S–5087 

  

  4

 (b) Prepare a sales ledger adjustment a/c from the 
follows : 
  Rs. 

2019 Jan 1 Opening balance of debtors 60,000 

 Total sales for the month 1,80,000 

 Sales returns  1,000 

 Cash received from debtors 18,000 

 B/R received  30,000 

 Bills dishonoured  3,000 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ÂØ£øÚ¨ ÷£÷μk 
\›ö\´uÀ PnUøPz u¯õ›UPÄ®. 

   ¹. 

2019 áÚÁ› 1 PhÚõÎPÎß öuõhUP C¸¨¦ 60,000

  ©õuzvß ö©õzu ÂØ£øÚ 1,80,000

  ÂØ£øÚ v¸¨£® 1,000

  PhÚõÎPÎhª¸¢x ö£Ó¨£mh £n® 18,000

  ö£ÓzuUP ÷Ási¯ μ^xPÎÀ C¸¢x ö£ØÓøÁ 30,000

  ©v¨¤Ç¢u μ^xPÒ 3,000

14. (a) Prepare debtors account from the following : 
 Rs. 

Opening balance of debtors 73,000 
Cash received from debtors 1,00,000 
Credit sales 1,25,000 
Closing balance of debtors  98,000 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x PhÚõÎPÒ PnUQøÚ 
u¯õ›UPÄ®. 

 ¹. 

PhÚõÎPÒ Bμ®£ C¸¨¦ 73,000 
PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 1,00,000 
Phß ÂØ£øÚ 1,25,000 
PhÚõÎPÎß CÖv C¸¨¦ 98,000 

Or 
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 (b) Briefly explain the term ‘‘Statement of Affairs’’. 
  C»õ£–|mh AÔUøP°øÚ _¸UP©õP ÂÍUPÄ®. 

15. (a) Suri and sons has purchased an asset for Rs. 30,500 
and spent an amount of Rs. 1500 for installation. 
The life of the asset is 5 years and its scrap value is 
Rs. 2,000. Depreciation is to be provided annually 
according to the straight line method. You are 
required to find out the rate of depreciation. 

  `› Aßm \ß J¸ ö\õzøu ¹. 30,500–US 
öPõÒ•uÀ ö\´uÚº. ÷©¾® ö£õ¸zxa ö\»ÁõP ¹. 
1500 ö\´uÚº. A¢u C¯¢vμzvß B²mPõ»® 5 
Á¸h®. A¢u C¯¢vμzvß Gg]¯ ©v¨¦ ¹. 2,000. 
C¯¢vμzvß ÷u´©õÚ® {ø»U÷Põmk •øÓ°À 
PnUQh¨£kQÓx. ÷u´©õÚzvß \uÃu® GßÚ 
Gß£øuU PnUQkP. 

Or 

 (b) What are the characteristics of depreciation? 

  ÷u´©õÚzvß C¯À¦PÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare account current for Nagesh in respect of the 
following transactions with Basha. 

2014  Rs. 

Sep. 16 Goods sold to Basha 400 (due 1st Oct) 

Oct 1 Cash received from Basha 180 

Oct 21 Goods purchased from Basha 1000 (due 1st Dec)

Nov 1  Paid to Basha 600 

Dec 1 Paid to Basha 600 

Dec 5 Goods purchased from Basha 1000 (due 1st Jan)

Dec 10 Goods purchased from Basha 440 (due 1st Jan) 
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2015   

Jan 1 Paid to Basha 1200 

Jan 9 Good sold to Basha 40 (due 1st Feb) 

  The account is to be prepared upto 1st Feb calculate 

interest @ 6% p.a. 

 £õåõÄhß ¤ßÁ¸® £›ÁºzuøÚPÒ öuõhº£õP 

|õ÷PèUS |h¨¦ PnUøPz u¯õº ö\´¯Ä®. 

2014  ¹. 

ö\¨. 16 £õåõÂØS ö£õ¸mPøÍ ÂØÓõº 400 (uÁøn ÷uv 

AU÷hõ£º 1) 

AU÷hõ£º 1 £õåõÂh® £nzøu ö£ØÓõº 180 

AU÷hõ£º 21 £õåõÂh® ö£õ¸mPøÍ Áõ[QÚõº 1000 (uÁøn ÷uv 

i\®£º 1) 

|Á®£º 1  £õåõÂh® £n® ö\¾zvÚõº 600 

i\®£º 1 £õåõÂh® £n® ö\¾zvÚõº 600 

i\®£º 5 £õåõÂh® ö£õ¸mPøÍ Áõ[QÚõº 1000 (uÁøn ÷uv 

áÚÁ› 1) 

i\®£º 10 £õåõÂh® ö£õ¸mPøÍ Áõ[QÚõº 440 (uÁøn ÷uv 

áÚÁ› 1) 

2015   

áÚÁ› 1 £õåõÂh® £n® ö\¾zvÚõº 1200 

áÚÁ› 9 £õåõÂh® ö£õ¸mPøÍ ÂØÓõº 40 (uÁøn ÷uv 

¤¨μÁ› 1) 

 ¤¨μÁ› 1–B® ÷uv Áøμ PnUS u¯õ›UP¨£h ÷Ásk®. 
BskUS 6% Ámiø¯U PnUQk[PÒ. 
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17. From the following particulars, prepare an Income and 
Expenditure Account for the year ended 31.03.2019. 

Receipts Rs. Payment Rs. 

To balance b/d :  By Salaries  36,000

Cash 550 By Rent  6,000

Bank 4,550 By Printing of 
stationery  

1450

To Subscription  By Postage  250

(including Rs. 2,000 for 
2019 – 2020) 

30,000 By purchase of 
Bicycle  

950

To Interest on Investment  15,000 By Savings bonds  6,800

To Bank interest  100 By balance c/d : 

To Sale of scooter  2,500 Cash 120

  Bank 1,130

 52,700  52,700

 Subscription include Rs. 120 for 2017 – 2018. Also rent 
include Rs. 500 paid for March 2017. Subscription  
amounting to Rs. 150 have still to be collected for 2018 – 
2019. Rent for 2019 has still to be paid and Rs. 25 are 
outstanding against a stationery bill. 

 RÌPõq® Â£μ[PÎ¼¸¢x 31.03.2019 B® |õ÷Íõk 
•iÁøh²® BskUS›¯ Á¸Áõ´ ö\»ÂÚU PnUøP 
u¯õ›UP. 

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

C¸¨¦ :  Fv¯® 36,000

öμõUP® 550 ÁõhøP  6,000

Á[Q 4,550 Aa_ GÊxö£õ¸Ò  1450

\¢uõ  Ag\À ö\»Ä  250

(2019 – 2020 BskUS›¯ 
¹. 2,000 •® ÷\º¢ux) 

30,000 ø\UQÒ Áõ[Q¯x 950
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ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 

•u½kPÎ¼¸¢x Ámi 15,000 ÷\ª¨¦ 
¤øn•ÔPÒ 
Áõ[Q¯ø©  

6,800

Á[Q Ámi  100 C¸¨¦ : 

ìTmhº ÂØÓø©  2,500 öμõUP® 120

  Á[Q 1,130

 52,700  52,700

 ÷©÷» öPõkUP¨£mkÒÍ \¢uõÂÀ 2017–2018® 
BsiØS›¯ \¢uõ ¹. 120 ÷\º¢v¸UQÓx. ÷©¾® 
ÁõhøP°À 2018 ©õºa ©õu ÁõhøP ¹. 500 
÷\º¢v¸UQÓx. ÷©¾® ÁõhøP°À 2018 ©õºa ©õu 
ÁõhøP ¹. 500 ÷\º¢v¸UQÓx. |h¨¦ 2018–2019 B® 
Bsk \¢uõ ¹. 150 CßÚ•® Á`¼UP¨£hõ©À 
C¸UQÓx. 2019 ©õºa ©õu ÁõhøP CßÚ•® 
ö\¾zu¨£hÂÀø». CßÝ® öPõk£hõ©¾ÒÍ 
GÊxö£õ¸Ò ö\»Ä ¹. 25. 

18. From the following details, prepare the purchase ledger 
adjustment a/c in general ledger and general ledger 
adjustment a/c in purchase ledger for the year 2022. 

 Rs.  Rs. 
Purchase ledger 
balance on 
1.1.2022 (Cr) 

1,20,000 Cheque paid to 
creditors 

30,000

Purchase ledger 
balance on 
1.1.2022 (Dr) 

10,000 Cheque 
dishonoured 

1,000 

Purchases from 
creditors 

1,80,000 Goods returned to 
creditors 

10,000

Bills payable 
accepted 

40,000 Discount allowed by 
creditors 

2,000 

Cash paid to 
creditors 

1,00,000 Interest on 
suppliers accounts 
due 

1,000 

Bills payable 
dishonoured 

4,000   
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 2022 BskUS ö£õx 
÷£÷μmkÀ öPõÒ•uÀ ÷£÷μk \›ö\´uÀ PnUøP²® 
öPõÒ•uÀ ÷£÷μmiÀ ö£õx \›ö\´uÀ PnUøP²® u¯õº 
ö\´¯Ä®. 

 Rs.  Rs. 
1.1.2022 À 
öPõÒ•uÀ ÷£÷μk 
C¸¨¦ (Cr) 

1,20,000 PhÚõÎPÐUS 
ö\¾zu¨£mh 
Põ÷\õø»PÒ 

30,000

1.1.2022–À 
öPõÒ•uÀ ÷£÷μk 
C¸¨¦ (Dr) 

10,000 Põ÷\õø» 
©v¨¤Ç¢ux 

1,000 

PhÚõÎPÎh® 
C¸¢x öPõÒ•uÀ 
ö\´ux 

1,80,000 PhÚõÎPÎh® 
ö£õ¸Ò v¸¨£® 
ö\´ux 

10,000

JzxUöPõÒÍ¨£mh 
öPõk£h ÷Ási¯ 
Cμ^xPÒ 

40,000 PhÚõÎPÎh® 
ö£ØÓ 
AÝ©vUP¨£mh 
uÒÐ£i 

2,000 

PhÚõÎPÎh® 
ö\¾zv¯ öμõUP® 

1,00,000 Â{÷¯õPìuº 
PnUQÀ ö\¾zu 
÷Ási¯ Ámi 

1,000 

©v¨¤Ç¢u 
ö£ÓzuUP Cμ^xPÒ 

4,000   

19. From the following particulars, Prepare a statement 
showing profit or loss for the year ended 31st March 2017. 

 March 31, 2016 March 31, 2017 

 Rs. Rs. 

Debtors 16,000 19,000 

Stock 12,000 15,000 

Furniture 2,000 4,000 

Cash in hand 1,000 1,500 

Creditors 1,200 1,800 

Bank overdraft — 2,000 

 During the year Siva introduced Rs. 10,000 as further 
capital in the business and withdraw Rs. 6,000. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 31 ©õºa 2017® BskS›¯ 
C»õ£&|mh AÔUøP°øÚ u¯õ›UP. 

 ©õºa 31, 2016 ©õºa 31, 2017 

 ¹. ¹. 

PhÚõÎPÒ  16,000 19,000 

\μUQ¸¨¦ 12,000 15,000 

AøÓP»ß 2,000 4,000 

öμõUP øP°¸¨¦ 1,000 1,500 

PhÜ¢÷uõºPÒ 1,200 1,800 

Á[Q÷©À Áøμ£ØÖ — 2,000 

 Bsiøh°À ]Áõ uÚx öuõÈ¾US Cmh TkuÀ •uÀ 

¹.10,000 ©ØÖ® ö\õ¢u ö\»ÄUS Gkzux ¹.6,000 ©õS®. 

20. X Co. Ltd. Purchased a lease of Rs. 50,000 on 1-1-2020 to 
be replaced at the end of five years. For this purpose, one 
insurance policy is taken out for which the annual 
premium is Rs. 9,400. At the end of the period the lease is 
renewed for Rs. 45,000. Show the various ledger accounts 
in the books of the company using insurance policy 
method of depreciation. 

 1.1.2020 AßÖ ¹. 50,000 US X Aß ÷Põ {ÖÁÚ® 5 
Á¸h[PÐUPõÚ SzuøP JßÔøÚ Gkzux. CuØPõP J¸ 

Põ¨¥mk vmhzøu ¹. 9,400 BsiØS \¢uõ GßÖ •iÄ 

ö\´ux •u½mk ö\´ux. 5 Á¸h •iÂÀ ©õØÖu¾UPõP 

HØ£õk ö\´x C¸¢ux ¹. 45,000 AUSzuøP 
¦x¨¤UP¨£mhx. ÷uøÁ¯õÚ GÀ»õ SÔ¨÷£k ©ØÖ® 
÷£÷μkPøÍ Põ¨¥mk ÷u´©õÚ •øÓ°øÚ £¯ß£kzv 
u¯õº ö\´P. 

 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by fixed capital method? 
 {ø»•uÀ •øÓ GßÓõÀ GßÚ? 

2. State the features of partnership. 
 Tmhõsø©°ß ]Ó¨¤¯À¦PøÍz uμÄ®. 

3. What is goodwill? 
 |Øö£¯º GßÓõÀ GßÚ? 

4. What is un recorded liability? 
 £vÄÓõ ö£õÖ¨¦PÒ GßÓõÀ GßÚ? 

5. Dheena, Surya and Janaki are partners sharing profits 
and losses in the ratio of 5:3:2. On 31.3.2018, Dheena 
retired. On the date of retirement, the books of the firm 
showed a reserve fund of Rs. 50,000. Pass journal entry to 
transfer the reserve fund. 

 wÚõ, `º¯õ ©ØÖ® áõÚQ GßÓ TmhõÎPÒ 5:3:2 GßÓ 
ÂQuzvÀ C»õ£® ©ØÖ® |mh[PøÍ¨ £Qº¢x Á¢uÚº.  
31.3.2018 AßÖ wÚõ Tmhõsø©ø¯ Âmk Â»QÚõº.  
AÁ¸øh¯ Â»P¼ß ÷£õx {ÖÁÚzvß PnU÷PkPÒ 
¹.50,000 Põ¨¦ {v°øÚU Põmi¯x.  Põ¨¦ {v°øÚ 
©õØÖÁuØS ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÂøÚ uμÄ®. 
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6. What is gaining ratio? 
 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

7. What is dissolution of a firm? 
 J¸ {ÖÁÚzvß Pø»¨¦ GßÓõÀ GßÚ? 

8. Who is an insolvent? 
 vÁõ»õÚÁº ¯õº? 

9. What is proportionate capital method? 
 ÂQuõ\õμ ‰»uÚ •øÓ GßÓõÀ GßÚ? 

10. What do you understand by a sale to a company? 
 J¸ {ÖÁÚzvØS ÂØ£øÚ ö\´Áuß ‰»® }[PÒ GßÚ 

¦›¢xöPõÒQÕºPÒ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a brief note on the applications of the 
provisions of the Indian Partnership Act, 1932 in 
the absence of partnership deed. 

  Tmhõsø© J¨£õÁn® CÀ»õu÷£õx, C¢v¯ 
Tmhõsø©a \mh® 1932&ß £i Pøh¤iUP 
÷Ási¯ Âv•øÓPÒ SÔzx ]Ö SÔ¨¦ uμÄ®. 

Or 

 (b) Arul is a partner in a partnership firm. As per the 
partnership deed, interest on drawings is charged at 
12% p.a. During the year ended 31st December 2020 
he drew as follows:  

Date Rs. 

March 1 3,000

June 1 3,000

September 1 3,000

December 1 3,000

   Calculate the amount of interest on drawings. 
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  A¸Ò Gß£Áº J¸ Tmhõsø© {ÖÁÚzvß 
TmhõÎ.  Tmhõsø© J¨£õÁnzvß£i Gk¨¦PÒ 
«x Ámi BskUS 12% PnUQh¨£h ÷Ásk®.  
i\®£º 31 B® |õ÷Íõk •iÁøh²® 2020 B® 
BsiÀ AÁ¸øh¯ Gk¨¦PÒ ¤ßÁ¸©õÖ:  

|õÒ ¹. 

©õºa 1 3,000

áúß 1 3,000

ö\¨h®£º 1 3,000

i\®£º 1 3,000

  Gk¨¦PÒ «x Ámi PnUQhÄ®. 

12. (a) Ramesh and Raju are partners sharing profits in 
the ratio of 2:1. They admit Ranjan into partnership 
with 1/4 share of profit. Ranjan acquired the share 
from old partners in the ratio of 3:2. Calculate the 
new profit sharing ratio and sacrificing ratio. 

  μ÷©è ©ØÖ® μõáú GßÓ C¸ TmhõÎPÒ 2:1 GßÓ 
ÂQuzvÀ C»õ£ |mhzøu¨ £Qº¢x Á¢uÚº.  
AÁºPÒ μg\ß Gß£Áøμ 1/4 £[SUS 
TmhõÎ¯õPa ÷\ºzuÚº.  μg\ß AÁμx £[øP 
£øÇ¯ TmhõÎPÎhª¸¢x 3:2 GßÓ ÂQuzvÀ 
Áõ[QÚõº.  ¦v¯ C»õ£¨ £QºÄ ÂQu® ©ØÖ® 
v¯õP ÂQu® PnUQhÄ®. 

Or 

 (b) How are accumulated profits and losses distributed 
among the partners at the time of admission of a 
new partner? 

  ¦v¯ TmhõÎ ÷\ºUøP°ß÷£õx, £Qº¢xuμõ 
C»õ£[PÒ ©ØÖ® |mh[PÒ GÆÁõÖ 
TmhõÎPÎUS £Qº¢uÎUP¨£kQÓx? 
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13. (a) Distinguish between sacrificing ratio and gaining 

ratio. 

  v¯õP ÂQuzvØS® Buõ¯ ÂQuzvØS® Cøh÷¯ 
EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) Kavitha, Kumudha and Lalitha are partners 

sharing profits and losses in the ratio of 5:3:3 

respectively.  Kumudha retires from the firm on 31st 

December, 2021.  On the date of retirement, her 

capital account shows a credit balance of 

Rs.2,00,000.  Pass journal entries if:  

  (i) The amount due is paid off immediately by 

cheque 

  (ii) The amount due is not paid immediately. 

  (iii) Rs.70,000 is paid immediately by cheque. 

  PÂuõ, S•uõ ©ØÖ® »¼uõ BQ¯ TmhõÎPÒ 
u[PÒ C»õ£ |mh[PøÍ •øÓ÷¯ 5:3:3 GßÓ 
ÂQuzvÀ £Qº¢x Á¢uÚº.  2021, i\®£º 31 AßÖ 
S•uõ {ÖÁÚzv¼¸¢x Â»SQÓõº. 

  AÁº Â»S® |õÎÀ AÁ¸øh¯ •uÀ PnUS 
¹.2,00,000 ÁμÄ C¸¨¤øÚU Põmi¯x. 

  (i) AÁ¸øh¯ öuõøP Põ÷\õø» ‰»® 

EhÚi¯õPa ö\¾zu¨£mhõÀ. 

  (ii) AÁ¸øh¯ öuõøP EhÚi¯õPa 

ö\¾zu¨£hÂÀø»ö¯ÛÀ 

  (iii) ¹.70,000 EhÚi¯õP Põ÷\õø» ‰»® 

ö\¾zu¨£mhx GßÓ `Ì{ø»PÐUPõÚ 

SÔ¨÷£mk¨ £vÄPøÍz uμÄ®. 
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14. (a) The balance sheet of a firm on 31st March 2017 were 
as under:  

Liabilities  Rs. Assets Rs. 
Capitals : X 5,000 Freehold property 8,000
  Y 4,000 Investment 2,000
  Z 3,000 Book debts 1,000
Sundry creditors 2,000 Cash at bank 3,000
P & L account 1,500 Stock  1,500
 15,500  15,500

  The partnership was dissolved on the above date. ‘X’ 
took over the investments at the agreed value of  
Rs. 1,900. Cash realized was : Freehold property  
Rs. 9,000. Book debts Rs. 900 and Stock Rs. 1,400. 
The creditors were paid at a discount of 5%. The 
expenses of realization came to Rs. 200. Prepare 
realization account and final realization profit 
transferred to each partner. 

  31 ©õºa 2017 AßÖ J¸ {ÖÁÚzvß C¸¨¦{ø» 
¤ßÁ¸©õÖ:  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ® :X 5,000 ¤øn¯ØÓ ö\õzx 8,000

  Y 4,000 •u½kPÒ 2,000
  Z 3,000 ¦zuPU Phß 1,000
£Ø£» PhÜ¢÷uõº 2,000 Á[Q öμõUP® 3,000
C»õ£ |mhU 
PnUS 

1,500 \μUQ¸¨¦ 1,500

 15,500  15,500

  ÷©ØPsh ÷uv°À Tmhõsø© Pø»UP¨£mhx. 
‘GUì’ {ÖÁÚ® •u½kPøÍ HØÖUöPõshx 
¹.1,900. ¤øn¯ØÓ ö\õzx ¹.9,000.  ¦zuPU 
PhßPÒ ¹.900 ©ØÖ® \μUQ¸¨¦ ¹.1,400.  
PhÚõÎPÐUS 5% uÒÐ£i ÁÇ[P¨£mhx.  wºÄ 
ö\»ÄPÒ ¹.200.  wºÄ PnUøP u¯õº ö\´x 
TmhõÎPÐUS ¤›zx uμ ÷Ási¯ wºÄ »õ£zøu 
PõsP. 

Or 
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 (b) How is the deficiency of an insolvent partner dealt 
with? 

  vÁõ»õÚ TmhõÎ°ß SøÓ£õmøh GÆÁõÖ 
\©õÎ¨£x? 

15.  (a) Explain the methods of purchase consideration. 

  öPõÒ•uÀ £›^»øÚ •øÓPøÍ ÂÍUSP. 

Or 

 (b) Rank the order of payment in the settlement of 
liabilities under piece-meal distribution. 

  £Sv £Sv¯õP £Qº¢uÎzx •øÓ°À ö£õÖ¨¦PøÍ 
wº¨£vÀ EÒÍ •øÓø¯ Á›ø\¨£kzxP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following information, prepare capital accounts 
of partners Rooban and Deri, when their capitals are 
fixed, 

Particulars Rooban 
(Rs.) 

Deri 
(Rs.) 

Capital on 1st April, 2018 70,000 50,000

Current account on 1st April, 2018 
(Cr.) 

25,000 15,000

Additional capital introduced 18,000 16,000

Drawings during 2018-2019 10,000 6,000

Interest on drawings 500 300

Share of profit for 2018-2019 35,000 25,800

Interest on capital 3,500 2,500

Salary NIL 18,000

Commission 12,000 NIL
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x ¹£ß ©ØÖ® öh› AÁºPÎß 
•uÀ, {ø» •uÀ GÚUöPõsk, AÁºPÎß •uÀ 
PnUSPøÍz u¯õ›UPÄ®. 

ÂÁμ® ¹£ß 
(¹.) 

öh› 
(¹.) 

2018, H¨μÀ 1 AßÖ •uÀ 70,000 50,000

2018, H¨μÀ 1 AßÖ |h¨¦U PnUS 
(Á) 

25,000 15,000

TkuÀ •uÀ öPõsk Á¢ux 18,000 16,000

2018&2019&À Gk¨¦PÒ 10,000 6,000

Gk¨¦PÒ «x Ámi 500 300

C»õ£¨ £[S (2018&2019) 35,000 25,800

•uÀ «x Ámi 3,500 2,500

\®£Í® NIL 18,000

PÈÄ 12,000 NIL

17. Rajan and Selva are partners sharing profits and losses 
in the ratio of 3:1.  Their balance sheet as on 31st March 
2020 is as under: 

Liabilities  Rs. Rs. Assets Rs. 

Capital 
accounts : 

  Building 25,000

Rajan 30,000  Furniture 1,000

Selva 16,000 46,000 Stock 20,000

General 
reserve 

 4,000 Debtors 16,000

Creditors  37,500 Bills receivable 3,000

   Cash at bank 12,500

   Profit and loss 
account 

10,000

  87,500  87,500
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 On 1.4.2020, they admit Ganesan as a new partner on the 

following arrangements:  

 (a) Ganesan brings Rs.10,000 as capital for 1/5 share of 

profit. 

 (b) Stock and furniture is to be reduced by 10%, a 

reserve of 5% on debtors for doubtful debts is to be 

created. 

 (c) Appreciate buildings by 20%. 

 Prepare revaluation account, partners’ capital account 

and the balance sheet of the firm after admission. 

 Cμõáß ©ØÖ® ö\ÀÁõ C¸Á¸® TmhõÎPÒ.  AÁºPÒ 

3:1 ÂQuzvÀ C»õ£® ©ØÖ® |mh[PøÍ £Qº¢x Á¢uÚº.  

AÁºPÍx 31&03&2020 |õÍßøÓ¯ C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ C¸¢ux. 

ö£õÖ¨¦PÒ  ¹. ¹. ö\õzxPÒ ¹. 

•uÀ 

PnUSPÒ : 
  Pmhh® 25,000

Cμõáß 30,000  AøÓP»ß 1,000

ö\ÀÁõ 16,000 46,000 \μUQ¸¨¦ 20,000

ö£õxU Põ¨¦  4,000 PhÚõÎPÒ 16,000

PhÜ¢÷uõº  37,500 ö£ÖuØS›¯ 

©õØÖa^mk 
3,000

   Á[Q öμõUP® 12,500

   C»õ£ |mh P/S 

(|mh®) 
10,000

  87,500  87,500



S–5088 

  

  9

 01.04.2020&CÀ ¤ßÁ¸® {£¢uøÚPÐhß P÷n\ß 

Gß£Áº ¦v¯ TmhõÎ¯õP ÷\¸QÓõº. 

 (A) P÷n\ß 1/5 C»õ£¨ £[QØöPÚ ¹.10,000 •uÀ 

öPõskÁ¸QÓõº. 

 (B) \μUQ¸¨¦ ©ØÖ® AøÓP»ß ©v¨¤À 10% SøÓzx 

©v¨¤h¨£kQÓx.  PhÚõÎPÒ «x 5% I¯UPhß 

JxUS E¸ÁõUP¨£kQÓx. 

 (C) Pmhhzvß «x 20% ©v¨÷£ØÓ® ö\´¯¨£kQÓx. 

 ©Ö©Ö¨¥mkU PnUS ¦v¯ TmhõÎ ÷\ºUøPUS ¤ß 

EÒÍ TmhõÎPÎß •uÀ PnUS ©ØÖ® C¸¨¦ 

{ø»USÔ¨¦ u¯õº ö\´¯Ä®. 

18. Charles, Muthu and Sekar are partners, sharing profits 

in the ratio of 3:4:2.  Their balance sheet as on 31st 

December, 2021 is as under: 

Liabilities  Rs. Rs. Assets Rs. 

Capital 

accounts : 

 Furniture 20,000

Charles 30,000  Stock 40,000

Muthu 40,000  Debtors 30,000

Sekar 20,000 90,000 Cash at bank 42,000

Workmen 

compensation 

fund 

27,000 Profit and 

loss A/c (loss)

18,000

Sundry 

creditors 

33,000  

 1,50,000  1,50,000
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 On 1.1.2022, Charles retired from the partnership firm on 
the following arrangements. 

 (a) Stock to be appreciated by 10% 

 (b) Furniture to be depreciated by 5% 

 (c) To provide Rs.1,000 for bad debts 

 (d) There is an outstanding repairs of Rs.11,000 not yet 
recorded. 

 (e) The final amount due to Charles was paid by 
cheque. 

 Prepare revaluation account, partners’ capital account 
and the balance sheet of the firm after retirement. 

 \õº»ì, •zx ©ØÖ® ÷\Pº GßÓ TmhõÎPÒ •øÓ÷¯ 
3:4:2 GßÓ ÂQuzvÀ C»õ£[PøÍ¨ £Qº¢x öPõshÚº.  
2021, i\®£º 31 B® |õøÍ¯ AÁºPÎß C¸¨¦{ø»U 
SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ¹. ö\õzxPÒ ¹. 

•uÀ 
PnUSPÒ : 

  AøÓP»ß 20,000

\õº»ì 30,000  \μUQ¸¨¦ 40,000

•zx 40,000  PhÚõÎPÒ 30,000

÷\Pº 20,000 90,000 Á[Q 
öμõUP® 

42,000

öuõÈ»õÍº 
Dmk {v 

 27,000 C»õ£ |mh 
P/S (|mh®)

18,000

£Ø£» 
PhÜ¢÷uõº 

 33,000  

  1,50,000  1,50,000

 1.1.2022 AßÖ ¤ßÁ¸® HØ£õkPÎß£i \õº»ì 
Tmhõsø©°¼¸¢x Â»QÚõº.   

 (A) \μUQ¸¨¤ß ©v¨¦ 10% AvP›UP¨£h ÷Ásk®. 

 (B) AøÓP»ß «x 5% ÷u´©õÚ® }UP¨£h ÷Ásk® 

 (C) ÁõμõUPhß «x ¹.1,000 JxUS E¸ÁõUP ÷Ásk® 
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 (D) öPõk£hõ £Êx£õº¨¦a ö\»Ä ¹.11,000 CßÚ•® 
£v¯¨£hÂÀø» 

 (E) \õº»êØS E›¯zöuõøP EhÚi¯õPa 
ö\¾zu¨£mhx. 

 ©Ö©v¨¥mkU PnUS, Â»P¾US¨ ¤ß EÒÍ 
TmhõÎPÎß •uÀ PnUS ©ØÖ® C¸¨¦ {ø»U 
SÔ¨¤øÚz u¯õº ö\´¯Ä®. 

19. Explain the modes of dissolution of a partnership firm. 

 J¸ Tmhõsø© {ÖÁÚzøu Pø»US® •øÓPøÍ 
ÂÍUSP. 

20. From the following information prepare the distribute 
cash under proportionate capital method: 

 Capital of partners: 

 Siva – Rs.20,000; 

 Sakthi – Rs.10,000 

 Profit sharing ratio 3:2 

 Ist instalment (cash) – Rs.5,000 

 IInd instalment (Cash) – Rs.4,000 

 IIIrd instalment (cash) – Rs.2,000 

 ¤ßÁ¸® uPÁ¼¼¸¢x ÂQuõa\õμ ‰»uÚ •øÓ°ß RÌ 
Â{÷¯õP¨ £nzøuz u¯õ›UPÄ®: 

 TmhõÎPÎß •uÀ: 

 ]Áõ – ¹.20,000; 

 \Uv – ¹.10,000; 

 C»õ£ £QºÄ ÂQu® 3:2 

 uÁøn (öμõUP®) – ¹.5,000 

 Cμshõ® uÁøn (öμõUP®) – ¹.4,000 

 ‰ßÓõ® uÁøn (öμõUP®) – ¹.2,000 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define sampling frame. 
 ©õv› £mi¯ø» Áøμ¯Ö. 

2. What do you understand by data? 
 uμÄ GßÓõÀ GßÚ? 

3. The mean of 100 items are found to be 30. If at the time 
of calculation two items are Wrongly taken as 32 and 12 
instead of 23 and 11. Find the correct mean. 

 100 ©v¨¦PÎß \μõ\› 30 GÚU PshÔ¯¨£mhx. 23, 11 
GßÓ ©v¨¤ØS £v»õP 32, 12 GßÖ uÁÖu»õP 
GkzxUöPõÒÍ¨£mhõÀ v¸zu¨£mh \μõ\›ø¯U PõsP. 

4. A cyclist covers his first three kms at an average speed of 
8 kmph. Another tow kms at 3 kmph and the last two at  
2 kmph. Find the average for the entire journey. 

 J¸ ø\UQÒ Kmk£Áº •uÀ 3 Q.« yμzøu 8 Q.«/©o 
÷ÁPzv¾®, Akzu 2 Q.« yμzøu 3 Q.«/©o GßÓ 
÷ÁPzv¾®, Pøh] 2 Q.« yμzøu 2 Q.«/©o GßÓ 
÷ÁPzv¾® PhUQÓõº GÛÀ AÁμx ö©õzu £¯nzvß 
\μõ\› ÷ÁPzøuU PõsP. 
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5. What is correlation? 
 JmkÓÄ GßÓõÀ GßÚ? 

6. If the regression coefficient of X on Y is 16 and the 
regression coefficient of Y on X is 4, then find the 
correlation coefficient. 

 Y Cß «uõÚ X Cß Ehß öuõhº¦U öPÊ 16 ©ØÖ®  
X Cß «uõÚ Y Cß Ehß öuõhº¦U öPÊ 4 GÛÀ 
JmkÓÄU öPÊ PõsP. 

7. Define index number. 
 SÔ±mk Gsøn Áøμ¯Ö. 

8. Write the uses of Index numbers. 
 SÔ±mk GsPÎß £¯ßPøÍ u¸P. 

9. What is a time series? 
 Põ»zöuõhº Á›ø\ GßÓõÀ GßÚ? 

10. Name different methods of estimating the trend? 
 ÷£õUQøÚ AÍÂk® •øÓPøÍ¨ ö£¯›kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinguish between primary data and  
secondary data. 

  •uÀ{ø» ©ØÖ® Cμshõ® {ø» uμÄPÎß 
÷ÁÖ£õmøhU TÖP. 

Or 

 (b) Distinguish between random sample and  
simple random sampling. 

  Áõ´¨¦ ©õv›US®, GÎ¯ Áõ´¨¦ ©õv›U 
Po¨¤ØS® EÒÍ ÷ÁÖ£õkPøÍU TÖP. 
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12. (a) Calculate the geometric and the harmonic mean of 
the following series of monthly expenditure of a 
batch of students. 

  125, 130, 75, 10, 45, 0.5, 0.40, 500, 150, 5 
  J¸ SÊÂÀ EÒÍ ©õnÁºPÎß ©õu ö\»ÂÚ® 

RÌPsh Á›ø\°À öPõkUP¨£mkÒÍx. 
AÆÂÁμ[PÐUS ö£¸UPÀ \μõ\› ©ØÖ® 
Cø\a\μõ\› PõsP. 

  125, 130, 75, 10, 45, 0.5, 0.40, 500, 150, 5 

Or 

 (b) Find out the mode of the following series: 
Wages (Rs.) Below 25 25 – 50 50 – 75 75 – 100 100 – 125 Above 125

No. of persons 10 30 40 25 20 15 

  RÌUPõq® AmhÁøn°À EÒÍ ÂÁμzvØS  
•Pk Põs: 

T¼ (¹.) < 25 25 – 50 50 – 75 75 – 100 100 – 125 > 125
öuõÈ»õÍºPÎß 

GsoUøP 
10 30 40 25 20 15 

13. (a) If rank correlation coefficient  == 3,8.0 2Dr   

then find n ? 

  uμ JmkÓÄU öPÊ  == 3,8.0 2Dr  GÛÀ n  Cß 
©v¨¦ PõsP. 

Or 

 (b) If the regression equations are 
xYyX 95.025.7ˆ,95.064ˆ −=−=  then find the 

correlation coefficient. 
  Ehß öuõhº¦ \©ß£õkPÒ 

xYyX 95.025.7ˆ,95.064ˆ −=−=  GÛÀ  
JmkÓÄU öPÊ PnUQkP. 
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14. (a) Calculate index number from the following data by 
simple aggregate method taking prices of 2015 as 
base. 

Price per kg
Commodity Units 

2015 2016

Wheat Quintal 200 250 

Rice Quintal 300 400 

Pulses Quintal 400 500 

Milk Litre 2 3 

Clothing Meter 3 5 

  2015 B® Bsøh Ai¨£øh BshõP öPõsk 
RÌUPsh uμÄPÐUS GÎ¯ ö©õzu •øÓ°À 
SÔ±mk GsønU PnUQkP. 

Âø» Q/Q
ö£õ¸mPÒ A»SPÒ 

2015 2016

÷Põxø© SÂshõÀ 200 250

A›] SÂshõÀ 300 400

£¸¨¦ ÁøPPÒ SÂshõÀ 400 500

£õÀ ¼mhº 2 3 

xo©oPÒ «mhº 3 5 

Or 
 (b) Compute 

  (i) Laspeyre’s 

  (ii) Paasche’s index numbers for 2010 from the 
following 

Price Quantity 
Commodity 

2002 2010 2002 2010

A 4 6 8 7 

B 3 5 10 8 

C 2 4 14 12 

D 5 7 19 11 



S–5089 

  

  5

  RÌUPsh uμÄPÐUS 2010 B® BsiØPõÚ  

  (i) »õì¤¯ºì 

  (ii) £õ]°ß SÔ±mk Gs PõsP 
Âø» AÍÄ 

ö£õ¸mPÒ 
2002 2010 2002 2010

A 4 6 8 7 

B 3 5 10 8 

C 2 4 14 12 

D 5 7 19 11 

15. (a) The number of units of a product exported during 
1990-97 is given below. Draw the trend line using 
graphical method. 

Year 1990 1991 1992 1993 1994 1995 1996 1997

No. of units 
exported (in ’000) 

12 13 13 16 19 23 21 23 

  1990&97 CÀ HØÖ©v ö\´¯¨£mh A»SPÎß 
GsoUøP ÂÁμ® R÷Ç öPõkUP¨£mkÒÍx. 
Áøμ£h •øÓø¯ £¯ß£kzv ÷£õUS ÷Põk ÁøμP. 

Á¸h® 1990 1991 1992 1993 1994 1995 1996 1997

HØÖ©v ö\´¯¨£mh 
A»SPÎß GsoUøP 
(B°μzvÀ)  

12 13 13 16 19 23 21 23

Or 

 (b) Draw a trend line by the method semi averages. 
Year 1992 1993 1994 1995 1996 1997

Production of steel in 
Million tonnes 

21 23 25 23 26 25 

  Aøμ \μõ\› •øÓø¯ £¯ß£kzv ÷£õUS ÷Põk 
ÁøμP. 

Á¸h® 1992 1993 1994 1995 1996 1997

C¸®¦ EØ£zv 
(ªÀ¼¯ß hß) 

21 23 25 23 26 25
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Under what circumstances stratified random sampling 
procedure is considered appropriate? How you such a 
sample? Explain by means of an example. 

 £[Rmk Áõ´¨¦ ©õv›U Po¨¦ •øÓ G¢u `Ì{ø»US 
EP¢u •øÓ GÚU TÖ. GÆÁõÖ Ax ÷£õßÓ ©õv›ø¯z 
÷uº¢öuk¨£õ´? J¸ GkzxUPõmkhß ÂÁ›UPÄ®. 

17. Calculate the Mean Deviation from mean and its 
Coefficient from the following data, relating to Height  
(to the nearest cm) of 100 children. 

Height (cms) 60 61 62 63 64 65 66 67 68

No. of Children 2 0 15 29 25 12 10 4 3 

 \μõ\›°¼¸¢x ö£Ó¨£mh \μõ\› Â»UP® ©ØÖ® \μõ\› 
Â»UPUöPÊ BQ¯ÁØøÓ Põn 100 SÇ¢øuPÎß E¯μ® 
PnUQkP. ¤ßÁ¸©õÖ (A[S»®) 

E¯μ® (ö\.«) 60 61 62 63 64 65 66 67 68

SÇ¢øuPÎß GsoUøP 2 0 15 29 25 12 10 4 3

18. In a marketing survey the prices of tea and prices of 
coffee in a town based on quality was found as shown 
below. Find the rank correlation between prices of tea 
and prices of coffee. 

Price of tea 88 90 95 70 60 75 50 

Price of coffee 120 134 150 115 110 140 100

 J¸ |PμzvÀ \¢øu B´ÂÀ uμzvß Ai¨£øh°À ÷u}º 
©ØÖ® Põ¨¤°ß Âø» {»Áμ® RÌUPshÁõÖ 
öPõkUP¨£mkÒÍx. CÁØÔß Âø»PÐUS Cøh°»õÚ 
uμ JmkÓøÁU PõsP. 

÷u}º Âø» 88 90 95 70 60 75 50

Põ¨¤°ß Âø» 120 134 150 115 110 140 100
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19. From the data given, in problem, obtain the following 

 (a) Laspeyre’s quantity index for 2018 using 2015 as 
the base year 

 (b) Paasche’s quantity index for 2018 using 2015 as the 
base. 

 (c) Compute Index number using Fisher’s formula and 
show it satisfies time reversal test and factor 
reversal test 

Base year Current year 
Commodity 

Price Quantity Price Quantity

A 10 12 12 15 

B 7 15 5 20 

C 5 24 9 20 

D 16 5 14 5 

 öPõkUP¨£mh uμÄPÐUS RÌ PshÁØøÓ PnUQkP. 

 (A) »õì¤¯›ì AÍÄ SÔ±møh 2018 B® BsiØS 
2015 Bsøh¨ ö£õÖzx PnUQkP. 

 (B) £õ]°ß AÍÄ SÔ±møh 2018B® BsiØS  
2015 B® Bsøh¨ ö£õÖzx PnUQkP 

 (C) ¤å›ß `zvμzøu £¯ß£kzv SÔ±mk GsønU 
PnUQkP. ÷©¾® Ax Põ»® ©õØÖa÷\õuøÚ ©ØÖ® 
Põμo ©õØÖ ÷\õuøÚPøÍ¨ §ºzv ö\´QÓx 
Gß£øu Põs¤. 

Ai¨£øh Bsk |h¨¦ Bskö£õ¸mPÒ 

Âø» AÍÄ Âø» AÍÄ

A 10 12 12 15 

B 7 15 5 20 

C 5 24 9 20 

D 16 5 14 5 
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20. Find the following for the calculation of number of 

telephones for the year 2000. 

 (a) Fit a straight line trend by the method of least 

squares. 

 (b) Calculate the trend values. 

Year 1990 1991 1992 1993 1994 1995

No. of telephones (in ’000s) 20 21 23 25 27 29 

 2000 B® Á¸hzvØPõÚ öuõø»÷£]PÎß 

GsoUøPø¯U Põn RÌUPshÁØøÓU PshÔP. 

 (A) «a]Ö ÁºUP •øÓø¯¨ £¯ß£kzv 

÷|ºU÷PõUmiøÚ¨ ö£õ¸zxP. 

 (B) ÷£õUS ©v¨¦PøÍU PõsP. 

Á¸h® 1990 1991 1992 1993 1994 1995

öuõø»÷£]PÎß GsoUøP 

(¡ÖPÎÀ) 

20 21 23 25 27 29

———————— 
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Allied – OFFICE MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Communication.  

 öuõhº¦PøÍ Áøμ¯ÖUPÄ®. 

2. What is PIN Code?  

 PIN SÔ±k GßÓõÀ GßÚ? 

3. Who is a Supervisor? 

 ÷©Ø£õºøÁ¯õÍº ¯õº? 

4. Give the meaning of Motion Study.  

 C¯UP B´Ä Gß£uß ö£õ¸øÍU öPõk. 

5. What do you mean by Organisation? 

 Aø©¨¦ GßÓõÀ GßÚ? 

6. What is Line Authority? 

 Á› AvPõμ® GßÓõÀ GßÚ? 

7. Why should edit an office manual? 

 A¾Á»P øP÷¯møh Hß v¸zu ÷Ásk®? 
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8. State the Meaning of duty list.  

 Phø© £mi¯¼ß ö£õ¸øÍU SÔ¨¤kP. 

9. What is configuration? 

 Pmhø©¨¦ GßÓõÀ GßÚ? 

10. Define Straight line flow of work. 

 ÷Áø»°ß ÷|º÷Põmk Kmhzøu Áøμ¯ÖUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all the questions. 

11. (a) List out the basic functions of an office. 

  A¾Á»Pzvß Ai¨£øh ö\¯À£õkPøÍ 
£mi¯¼kP. 

Or 

 (b) Explain the bathers of electronic communication. 

  ªßÚq öuõhº¦ uøhPøÍ ÂÍUSP. 

12. (a) Extend the duties of an office manager. 

  A¾Á»P ÷©»õÍ›ß Phø©PøÍ TÖP. 

Or 

 (b) Outline the constraints in measures office work. 

  A¾Á»P ÷Áø» |hÁiUøPPÎÀ EÒÍ uøhPøÍ 
÷PõimkU PõmkP. 

13. (a) Identify the principles of organisation. 

  Aø©¨¤ß öPõÒøPPøÍ Aøh¯õÍ® PõsP. 

Or 

 (b) What is modular furniture? Explain. 

  ©mk ©μa\õ©õßPÒ GßÓõÀ GßÚ? ÂÍUSP. 



S–5090 

  

  3

14. (a) Mention the areas to be covered in office manuals? 

  A¾Á»P øP÷¯kPÎÀ SÔ¨¤h¨£mh ÷Ási¯ 
£SvPøÍU SÔ¨¤kP. 

Or 

 (b) What are the advantages of having well defined 
systems in an office? 

  A¾Á»PzvÀ |ßS Áøμ¯ÖUP¨£mh 
Aø©¨¦PøÍU öPõsi¸¨£uß |ßø©PÒ GßÚ? 

15.  (a) Classify the merits of office automation. 

  A¾Á»P Bm÷hõ÷©åÛß |ßø©PøÍ 
ÁøP¨£kzxP. 

Or 

 (b) How does a computer help in communication? 

  uPÁÀ öuõhº¦US PoÛ GÆÁõÖ EuÄQÓx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the important components of a good word 
processing system. 

 J¸ |À» ö\õÀ ö\¯»õUP Aø©¨¤ß •UQ¯©õÚ 
TÖPøÍ¨ £ØÔ ÂÁõv. 

17. Enumerate the essential managerial qualities of an office 
manager. 

 A¾Á»P ÷©»õÍ›ß Azv¯õÁ]¯ {ºÁõP Sn[PøÍU 
PnUQkP. 

18. How can office environment be made comfortable and 
conducive? 

 A¾Á»P `Çø» G¨£i Á\v¯õPÄ® ©ØÖ® \õuP©õPÄ® 
©õØÓ»õ®? 
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19. Describe the major computer system in office. 

 A¾Á»PzvÀ EÒÍ •UQ¯ PoÛ Aø©¨ø£ ÂÁ›. 

20. Elaborate the types of layouts. 

 uÍÁø©¨¦PÎß ÁøPPøÍ ÂÁ›UP. 

  
———————— 
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MARKETING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is ‘market’? 

 ‘\¢øu’ GßÓõÀ GßÚ? 

2. Define ‘Market segmentation’. 

 ‘\¢øu £S¨¦’ Áøμ¯Ö. 

3. What do you mean by ‘Product policy’? 

 ‘ö£õ¸Ò öPõÒøP’ GßÓõÀ GßÚ? 

4. Define ‘Consumer goods’. 

 ‘~Pº÷Áõº ö£õ¸mPÒ’ Áøμ¯Ö. 

5. What is ‘standardization’? 

 ‘uμ¨£kzxuÀ’ GßÓõÀ GßÚ? 

6. Give the meaning of the term ‘storage’. 

 ‘÷\ª¨¦ Qh[S’ Gß£uß ö£õ¸Ò u¸P. 
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7. Define ‘skimming pricing’. 

 ‘Pøh¢öukUS® Âø»°hÀ’ Áøμ¯Ö. 

8. What is ‘odd pricing’? 

 ‘JØøÓ Âø»°hÀ’ GßÓõÀ GßÚ? 

9. Define ‘sales promotion’. 

 ‘ÂØ£øÚ ÷©®£õk’ Áøμ¯Ö. 

10. What do you mean by ‘personal selling’? 

 ‘BÒ\õº ÂØ£øÚ’ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the modern marketing concepts. 

  |ÃÚ \¢øu°¯À ÷Põm£õkPøÍ TÖP. 

Or 

 (b) Write a note on ‘marketing mix’. 

  ‘\¢øu°¯À P»øÁ’ £ØÔ SÔ¨¦ ÁøμP. 

12. (a) Indicate the essentials of a good brand. 

  J¸ ]Ó¢u ÁoPU SÔ±miß CßÔ¯ø©¯õU 
TÖPøÍ SÔ¨¤kP. 

Or 

 (b) What are the kinds of packaging? 

  Pmk©zvß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 
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13. (a) Point out the types of transformation. 

  ÷£õUSÁμzvß ÁøPPøÍ SÔ¨¤kP. 

Or 

 (b) State the need for finance. 

  {v°ß AÁ]¯zøu TÖP. 

14. (a) What are the objectives of pricing? 

  Âø»°h¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Enumerate the methods of pricing. 

  Âø»°h¼ß •øÓPøÍ ÂÍUSP. 

15.  (a) Indicate the techniques of sales promotion.  

  ÂØ£øÚ ÷©®£õmiß ~m£[PøÍ SÔ¨¤kP. 

Or 

 (b) List out the qualities of a successful salesman. 

  J¸ ]Ó¢u ÂØ£øÚ¯õÍ›ß uSvPøÍ £mi¯¼kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Trace the evolution of marketing. 

 \¢øu°¯¼ß ÁÍºa] {ø»PøÍ Bμõ´P. 

17. List out the steps involved in the introduction of a new 
product. 

 J¸ ¦v¯ ö£õ¸øÍ AÔ•P¨£kzxu¼À EÒÍ 
£i{ø»PøÍ £mi¯¼kP. 
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18. What are the functions of warehousing? 

 £shP Põ¨£Pzvß £oPÒ ¯õøÁ? 

19. Explain the factors influencing pricing decisions. 

 Âø»°hÀ •iøÁ {ºn°US® PõμoPøÍ ÂÍUSP. 

20. State the merits and demerits of advertising. 

 ÂÍ®£μzvß |ßø©PÒ ©ØÖ® SøÓPøÍ TÖP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Simple Interest. 

 uÛ Ámi Áøμ¯ÖUP. 

2. What is meant by Annuities? 

 BskzöuõøP GßÓõÀ GßÚ? 

3. What is Common Logarithm? 

 ö£õx ©hUøP GßÓõÀ GßÚ? 

4. Define Anti–logarithm. 

 Gvº AkUS‰»® Áøμ¯ÖUP. 

5. Write about “Complement of a Set”. 

 “{μ¨¦U Pn®” £ØÔ GÊxP. 

6. What do you meant by Finite Set? 

 •iÄÖ Pn® Gß£uß Aºzu® GßÚ? 
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7. What are the basic rules of conditional probability? 

 {£¢uøÚ {PÌuPÄUPõÚ Ai¨£øh ÂvPÒ GßÚ? 

8. What do you  mean by Variance? 

 ©õÖ£õmk AÍøÁ GßÓõÀ GßÚ? 

9. Binomial Distribution : Define. 

 D¸Ö¨¦À £μÁÀ : Áøμ¯Ö. 

10. Write any two examples for Poisson distribution. 

 £õ´\õß £μÁ¾UPõÚ C¸ GkzxUPõmkPøÍ GÊxP. 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Compute the compound interest on Rs. 1,000 for 10 
years at 4% per annum, the interest being paid 
annually. 

   ¹. 1,000–US 10 BskPÐUS 4% Ãu® GÛÀ Tmk 
Ámiø¯ PnUQkP. 

Or 

 (b) Find the true discount and the present value worth 
of a bill for Rs. 1,660 due in 9 months at 5% per 
annum. 

   ©õØÖa^miß uØ÷£õøu¯ ©v¨¦ ¹. 1,660 
BskPÐUS 5% Ãu® 9 ©õu[PÎÀ ö\¾zu 
÷Ásk® GÛÀ uÒÐ£iø¯ PnUQkP. 

12. (a) If 4/21logloglog 1042 =++ xxx  find x . 

   4/21logloglog 1042 =++ xxx  GÛÀ x –IU 
PshÔ¯Ä®. 

Or 
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 (b) Find the value of antilog 

  
72.196.18
23.4162.71

×
×

  

   ¤ßÁ¸ÁÚÁØÔØS Gvº AkUS‰»® (Bßi»õU) 
©v¨ø£U PshÔ¯Ä®. 

   
72.196.18
23.4162.71

×
×

 

13. (a) Represent the following sets in Roaster form. 

  (i) A = the set of all even natural numbers less 
than 20. 

 (ii) =C  xx :{  is the perfect cube, }21627 << x  

   ¤ßÁ¸® Pn[PøÍ¨ £mi¯À •øÓ°À GÊxP. 

   (i) A = 20CUS® SøÓÁõÚ Cμmøh¨£øh C¯À 
GsPÎß Pn®. 

   (ii) =C  xx :{  Gß£x J¸ •ÊU PÚ Gs ©ØÖ® 
}21627 << x . 

Or 

 (b) Which of the following sets are equivalent or 
unequal or equal seets? 

  (i) )5,4,3,2(=C  

   }51,:{ <<∈= xWxxD  

   (ii) xxG :(= is a prime number and }233 << x  

    xxH :{=  is a divisor of }18  

   ¤ßÁ¸ÁÚÁØÔÀ GøÁ \©õÚ Pn[PÒ AÀ»x 
\©©ØÓ Pn[PÒ AÀ»x \© Pn[PÒ GÚU TÖP. 

  (i) )5,4,3,2(=C  

    }51,:{ <<∈= xWxxD  

   (ii) xxG :(=  J¸ £Põ Gs }233 << x  

    xxH :{=   Gß£x 18 Cß ÁS GsPÒ} 
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14. (a) List out the Basic Theorems on probability. 
  {PÌuPÂß Ai¨£øhz ÷uØÓ[PøÍ £mi¯¼kP. 

Or 

 (b) An unbiased die is thrown. If A is the event ‘the 
number appearing is a multiple of 3’ and B be the 
event ‘the number appearing is even’ number then 
find whether A and B are independent? 

   J¸ ^μõÚ £Pøh E¸mh¨£kQÓx. A GßÓ {PÌÄ 
‘£Pøh°À ÷uõßÖ® Gs 3’–ß ©h[S’ GÚÄ®  
B {PÌÄ ‘£Pøh°À ÷uõßÖ® Gs Cμmøh, £øh 
Gs’ GÛÀ A ©ØÖ® B BQ¯ {PÌÄPÒ \õμõ 
{PÌÄPÍõ GÚ Bμõ´P. 

15. (a) A fair coin is tossed 6 times. Find the binominal 
distribution with probability that exactly 2 heads 
occurs. 

   ¤øÇ¯ØÓ J¸ |õn¯® 6 •øÓ _sh¨£kQÓx. 
AÁØÔÀ \›¯õP 2 uø»PÒ Qøh¨£uØPõÚ {PÌuPÄ 
PõsP. 

Or 

 (b) In a book of 520 pages, 390 typo-graphical errors 
occur. Assuming Poisson law for the number of 
errors per page, find the probability that a random 
sample of 5 pages will contain no error. 

   520 £UP[PøÍU öPõsh ¦zuPzvÀ 390 umha_¨ 
¤øÇPÒ EÒÍÚ. £õ´\õß ÁÈ°øÚ AÝ©õÛzx 
\©Áõ´¨¦ •øÓ°À ÷uº¢öukUP¨£mh 5 
£UP[PÎÀ ¤øÇ÷¯ CÀ»õ©À C¸¨£uØPõÚ 
{PÌuPÄ PõsP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A sinking fund was formed by setting aside Rs. 1,000 at 
the end of the first year and then at the end of each of the 
following years an amount 10% more than that set aside 
at the end of the immediately previous years. Find the 
total amount of the fund at the end of 10 years, reckoning 
interest at 5% per annum compounded. 



S–5092 

  

  5

 •uÀ Á¸hzvß •iÂÀ PhÚøh¨¦ {v ¹. 1,000 
E¸ÁõUP¨£mhx. ÷©¾® Akzu JÆöÁõ¸ Á¸hzvß 
•iÂ¾® EhÚi¯õP •¢øu¯ BskPÎß •iÂÀ 
JxUP¨£mhøu Âh 10% TkuÀ öuõøP JxUP¨£mhx. 
10 Bsk •iÂÀ {v°ß ö©zuz öuõøPø¯U 
PshÔ¯Ä® ©ØÖ® BskUS 5% Tmk Ámiø¯U 
PnUQhÄ®. 

17. If abxcaxbcx cba log1,log1,log1 +=+=+= . Find the 
log. 

 abxcaxbcx cba log1,log1,log1 +=+=+=  ©hUøPø¯ 
Psk¤i. 

18. From the given Venn diagram, write the elements of  

  
 (i) A    (ii) B  
 (iii) BA−   (iv) AB =  
 (v) A′    (vi) B′  
 (vii) U   

 A¸QÀ EÒÍ £hzvÀ C¸¢x ¤ßÁ¸ÁÚÁØøÓU PõsP. 

  
 (i) A    (ii) B  
 (iii) BA−   (iv) AB =  
 (v) A′    (vi) B′  
 (vii) U  
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19. An urn contains four balls of red, black, green and blue 
colours. There is an equal probability of getting any 
coloured ball. What is the expected value of getting a blue 
ball out of 30 experiments with replacement? 

 J¸ SkøÁ°À ]Á¨¦, P¸¨¦, £aø\ ©ØÖ® }»® BQ¯ 
|õßS {Ó £¢xPÒ EÒÍÚ. G¢u {Ó £¢øu²® ö£Ó 
\©©õÚ {PÌuPÄ ÁÇ[P¨£mkÒÍx. •¨£x 
÷\õuøÚPÎÀ £¢xPÒ v¸®¤ øÁUS® •øÓ°À, }»{Ó 
£¢x ö£ÖÁuØPõÚ Gvº£õºUPzuUP ©v¨¦ GßÚ? 

20. If X  is a normal variate mean 30 and SD 5. Find the 
probability that 

 (a) 4026 ≤< x   (b) 45>X   

 C¯À{ø»¨ £μÁ¼ß \μõ\› 30 ©ØÖ® vmhÂ»UP® 5 
GÛÀ 

 (A) 4026 ≤< x    

 (B) 45>X  BQ¯ £μ¨¤øÚ PõsP. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define risk. 

 B£zøu Áøμ¯ÖUPÄ®. 

2. Define Risk Management. 

 Chº ÷©»õsø©ø¯ Áøμ¯ÖUPÄ®. 

3. Give the meaning of Standard Risk. 

 {ø»¯õÚ A£õ¯zvß ö£õ¸Ò u¸P. 

4. What is meant by Insurable Risk? 

 Põ¨¥k ö\´¯UTi¯ B£zx GßÓõÀ GßÚ? 

5. Short note about past history in life policy. 

 B²Ò Põ¨¤mkÖv Ph¢u Põ» Áμ»õÖ £ØÔ¯ ]Ö SÔ¨¦ 
u¸P. 

6. State the meaning of War Risk. 

 ÷£õº B£zvß ö£õ¸Ò TÖP. 
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7. What do you understand by Surrender Value? 

 \μshº ©v¨¦ GßÓõÀ }[PÒ AÔ¢uøÁ? 

8. State the term Lapsing of Policy. 

 £õ¼]°ß Põ» uõ©uzøuU SÔ¨¤hÄ®. 

9. Write a note on Perils of Sea. 

 Ph¼ß B£zxPÒ SÔzx J¸ SÔ¨ø£ u¸P. 

10. What is Voyage Policy? 

 £¯nU öPõÒøP GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Bring out the various features of insurance. 

  Põ¨¥miß £À÷ÁÖ A®\[PøÍ öÁÎUöPõn¸®. 

Or 

 (b) Narrate the functions of insurance. 

  Põ¨¥miß ö\¯À£õkPøÍ Â›ÁõP Gkzxøμ. 

12. (a) Describe the producers for effecting life insurance. 

  B²Ò Põ¨¥møh ö\¯À£kzxÁuØPõÚ 

|øh•øÓPøÍ ÂÁ›UPÄ®. 

Or 

 (b) Discuss the various Endowment Policies. 

  £À÷ÁÖ ©õÛ¯U öPõÒøPPøÍ¨ £ØÔ ÂÁõv. 
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13. (a) Write a brief note on Medical Examination in Life 
Policy. 

  B²Ò Põ¨¥mkÖv°À ©¸zxÁ¨ £›÷\õuøÚ £ØÔ¯ 
]ÖSÔ¨¦ u¸P. 

Or 

 (b) Briefly explain about agents’ report in life policy. 

  B²Ò Põ¨¥mkÖv°À •PÁºPÎß AÔUøP £ØÔ 
_¸UP©õP ÂÍUSP. 

14. (a) Who is eligible to be nominee in life policy? 

  B²Ò Põ¨¥mkÖv |õªÛ¯õP C¸UP ¯õº 
uSv¯õÚÁº? 

Or 

 (b) Brief out the administration of LIC India. 

  LIC C¢v¯õÂÀ {ºÁõP® £ØÔ _¸UP©õP ÂÍUSP. 

15.  (a) Write down the role of Llodyd’s association in 
Marine Insurance. 

  PhÀ Põ¨¥miÀ Llodyd’s \[Pzvß £[øP ÂÍUSP. 

Or 

 (b) Bring out the circumstances in which marine 
insurance premium is returnable to the insured. 

  PhÀ Põ¨¥mk ¤Ÿª¯zvß Põ¨¥k ö\´uÁ¸US 
v¸¨¤z uμUTi¯ `Ì{ø»PøÍ öÁÎ¨£kzx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the major Fundamental Principles of 
Insurance? 

 Põ¨¥miß •UQ¯ Ai¨£øhU ÷Põm£õkPÒ GßÚ? 
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17. Explain the steps involved in settlement of Maturity 
Claims in Life Insurance. 

 B²Ò Põ¨¥miÀ •vºÄ ÷Põ›UøPPøÍ wº¨£vÀ EÒÍ 
£i £i¯õP ÂÍUSP. 

18. Classify the steps involved in taking a Life Policy. 

 B²Ò Põ¨¥mkÖv Gk¨£vÀ EÒÍ £iPøÍ ÂÍUSP. 

19. Enlist the roles of LIC in National Economy. 

 ÷u]¯¨ ö£õ¸ÍõuõμzvÀ LIC °ß £õzvμ[PøÍ 
ÁøP¨£kzxP. 

20. Briefly explain the different types of Marine Losses. 

 £À÷ÁÖ ÁøP¯õÚ PhÀ CÇ¨¦PøÍ Â›ÁõP ÂÍUSP. 

  
———————— 
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CORPORATE ACCOUNTING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is share? 

 £[S GßÓõÀ GßÚ? 

2. What is Debentures? 

 Phß £zvμ[PÒ GßÓõÀ GßÚ? 

3. What is meant by acquisition of business? 

 ÁoPzøu øP¯P¨£kzxuÀ GßÓõÀ GßÚ? 

4. Briefly explain the ‘Net asset’ method in purchase 
Consideration. 

 Áõ[SuÀ £›^»øÚ°À ‘{Pμ ö\õzx •øÓø¯’ _¸UP©õP 
ÂÍUS[PÒ. 

5. What is meant by revenue from operations? 

 ö\¯À£õkPÎß Á¸Áõ´ GßÓõÀ GßÚ? 

6. State any two items appearing under other income. 

 ©ØÓ Á¸©õÚzvß RÌ ÷uõßÖ® H÷uÝ® Cμsk 
ö£õ¸mPøÍU SÔ¨¤hÄ®. 

Sub. Code 
22BCO5C1 
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7. Define ‘Absorption’. 

 ‘EÔg_uÀ’ Áøμ¯ÖUPÄ®. 

8. What is Internal reconstruction? 

 Em¦Ó ©Ö^μø©¨¦ GßÓõÀ GßÚ? 

9. Define ‘Goodwill’. 

 |ß©v¨¦ Áøμ¯ÖUPÄ®. 

10. What is the ‘Average Profit’? 

 ‘\μõ\› »õ£®’ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Explain the types of shares. 

  £[SPÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Kailash Ltd. purchased the business of Mani Bros. 
for Rs. 54,00,000 payable in fully paid shares of   
Rs. 100 each. What entries will be made in the 
books of Kailash Ltd., if such issue is (i) at par (ii) at 
a premium of 20% and (iii) at a discount of 10%? 

  øP»õè ¼ªöhm, ©o ¤μuºêß ÁoPzøu  
¹. 54,00,000 •Êø©¯õP ö\¾zu¨£mh £[SPÎÀ 
u»õ ¹. 100 øP»õè ¼ªöhm ¦zuP[PÎÀ, 
AzuøP¯ öÁÎ±k (i) \©©õP (ii) 20% ¤Ÿª¯zv¾®  
(iii) 10% uÒÐ£i°¾® C¸¢uõÀ GßÚ EÒÏkPÒ 
ö\´¯¨£k®? 

12. (a) M/s Khan and Jain had on 31-3-2019 capitals 
standing at Rs. 1,50,000 and Rs. 1,00,000; Sundry 
creditors on that date were Rs. 30,000. Goodwill 
stood in the books at Rs. 20,000. The partners sold 
their business to an existing company for 25,000 
shares of Rs. 10 each issued at a premium of Rs. 2 
per share. At what value the company record the 
goodwill on purchase and at what figure will it 
appear in the company’s balance sheet? 
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  G®/PÒ Põß ©ØÖ® öá°ß BQ÷¯õº 31-3-2019 
AßÖ ¹. 1,50,000 ©ØÖ® ¹. 1,00,000; AßøÓ¯ 

÷uv°À Phß öPõkzuÁºPÒ ¹. 30,000. 
|Àö»sn® ¦zuP[PÎÀ ¹. 20,000. £[SuõμºPÒ 
u[PÒ ÁoPzøu HØPÚ÷Á EÒÍ {ÖÁÚzvØS  

¹. 25,000 £[SPÐUS ÂØÓÚº. u»õ ¹. 10 ¹£õ´ 

¤Ÿª¯zvÀ ÁÇ[P¨£mhx. J¸ £[SUS ¹. 2 G¢u 
©v¨¤À {ÖÁÚ® Áõ[S® |Àö»snzøu £vÄ 
ö\´QÓx ©ØÖ® {ÖÁÚzvß C¸¨¦{ø»U SÔ¨¤À 

Ax G¢u GsoUøP°À ÷uõßÖ®? 

Or 

 (b) Padma Co. Ltd, was formed for taking over the 
business of Mr. Ganapathi. The purchase 
consideration was Rs. 1,92,000 which will be settled 
by issue of 960 shares of Rs. 100 each at a discount 
at 5% and balance in cash. Assets taken over were  
Rs. 2,08,000 and Liabilities taken over were  
Rs. 28,000. Give journal entries in the books of 
Padma Co. Ltd. 

  £z©õ ÷Põ. ¼ªöhm v¸. Pn£v°ß ÁoPzøuU 
øP¨£ØÖÁuØPõÚ E¸ÁõUP¨£mhx. öPõÒ•uÀ 

£›^»øÚ ¹. 1,92,000 ¹. 960 £[SPøÍ 

öÁÎ°kÁuß ‰»® wºUP¨£k® ¹. 100 u»õ 5% 
uÒÐ£i ©ØÖ® £n©õP C¸¨¦. øP¨£ØÓ¨£mh 

ö\õzxUPÒ ¹. 2,08,000 ©ØÖ® ö£õÖ¨¦PÒ 

øP¨£kzu¨£mhx ¹. 28,000. £z©õ ÷Põ. ¼ªöhm 

¦zuP[PÎÀ SÔ¨÷£k £vÄPøÍ u¸P. 

13. (a) State the rules regarding transfer of profit to 
reserves. 

  »õ£zøu C¸¨¦UPÐUS ©õØÖÁx öuõhº£õÚ 
ÂvPøÍU TÖuÀ. 

Or 
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 (b) The following ledger balances were extracted from 
the books of Varun Ltd.. as on 31.3.2013: Land and 
building Rs. 2,00,000 12% Debentures Rs. 2,00,000: 
Share capital Rs. 10,00,000 (equity shares of Rs. 10 
each fully paid up), Plant and machinery  
Rs. 8,00,000, Goodwill Rs. 2,00,000, Investment in 
shares of Raja Ltd. Rs. 2,00,000, General reserve 
Rs. 1,95,000, Stock in trade Rs. 1,00,000; Bills 
receivable Rs. 50,000; Debtors Rs. 1,50,000; 
Creditors Rs. 1,00,000; Bank loan (unsecured)  
Rs. 1,00,000; Provision for tax Rs. 50,000. Proposed 
dividend Rs. 55,000. 

  Prepare the Balance sheet of the company as per 
Revised Schedule VI, Part I of the Companies Act 
1956. 

  31.3.2013 AßÖ Á¸s ¼ªöhm ¦zuP[PÎÀ 
C¸¢x ¤ßÁ¸® ö»máº {¾øÁPÒ 
¤›zöukUP¨£mhÚ. {»® ©ØÖ® Pmih®  
¹. 2,00,000; 12% Phß £zvμ[PÒ ¹. 2,00,000: £[S 
‰»uÚ® ¹. 10,00,000 (JÆöÁõßÖ® ¹. 10 £[SPÒ 
•Êø©¯õP ö\¾zu¨£mhx), Bø» ©ØÖ® 
C¯¢vμ[PÒ ¹. 8,00,000, |Àö»sn® ¹. 2,00,000, 
μõáõ ¼ªöhm £[SPÎÀ •u½k ¹. 2,00,000, ö£õx 
C¸¨¦ ¹. 1,95,000, ÁºzuPzvÀ £[S ¹. 1,00,000; 
¹. 50,000 ¹£õ´ ÁμÄ; PhÚõÎPÒ ¹. 1,50,000; Phß 
öPõkzuÁºPÒ ¹. 1,00,000; Á[QU Phß 
(£õxPõ¨£ØÓx) ¹. 1,00,000; Á›UPõÚ JxURk  
¹. 50,000. Ez÷u\ DÄzöuõøP ¹. 55,000. 

  {ÖÁÚ[PÒ \mh® 1956 Cß £Sv I Cß 
v¸zu¨£mh AmhÁøn VI Cß £i {ÖÁÚzvß 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

14. (a) What are the methods of Accounting for 
Amalgamation? 

  CønzuÀ PnUQ¯À •øÓPÒ GßÚ? 

Or 
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 (b) B Ltd. agreed to absorb A Ltd. upon the following 
terms: (A) Shares of A Ltd. are to be considered as 
worth Rs. 12 each (of which shareholders are to be 
paid one Quarter in cash and the balance in Rs. 100 
shares of B Ltd. which are to be issued at 25% 
premium. Total shares were: 10,000 in B Ltd. and 
20,000 in A Ltd. Ascertain the number of shares to 
be issued by B ltd. 

  ¤. ¼ªöhm ¤ßÁ¸® {£¢uøÚPÎß Ai¨£øh°À 
A Ltd. I EÒÁõ[P J¨¦UöPõshx. A ¼ªöhm 
Cß £[SPÒ ¹. u»õ 12 CvÀ £[SuõμºPÐUS J¸ 
Põ»õsk öμõUP©õPÄ®, «u•ÒÍ ¹. 100 ¤. 
¼ªöhm £[SPÍõPÄ® ÁÇ[P¨£k® ¤.¼ªöhm 
ÁÇ[S® £[SPÎß GsoUøPø¯U PshÔ¯Ä®. 

15.  (a) The capital employed in a company is Rs. 5,00,000. 
The normal rate of return is 20% During the last 
four years the actual returns were: 24%, 26%. 28%. 
and 30% on capital. The goodwill of the company is 
taken at 4 years purchase of previous 4 years’ 
average super normal profit. Find the goodwill. 

  J¸ {ÖÁÚzvÀ £o¦›²® ‰»uÚ® ¹. 5,00,000. 
\õuõμn Á¸Áõ´ ÂQu® 20% Ph¢u |õßS 
BskPÎÀ Esø©¯õÚ Á¸©õÚ®: 24%, 26%, 28% 
©ØÖ® 30% {ÖÁÚzvß |Àö»sn® •¢øu¯  
4 BskPÎß \μõ\› `¨£º |õº©À »õ£zøu  
4 BskPÒ Áõ[Q¯vÀ GkUP¨£kQÓx 
|Àö»snzøuU Psk¤i. 

Or 

 (b) The average net profit expected in the future of 
ABC firm are Rs. 1,08,000 per year. The average 
capital employed in the business by the firm is  
Rs. 6,00,000. The rate of interest expected from 
capital invested in this class of business is 10%. The 
remuneration of the partners is estimated to be  
Rs. 18,000 per annum. 

  Find out the value of goodwill on the basis of two 
years purchase of super profit. 
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  H¤] {ÖÁÚzvß GvºPõ»zvÀ Gvº£õºUP¨£k® 
\μõ\› {Pμ C»õ£® ¹. 1,08,000 BskUS 
{ÖÁÚzvÀ £o¦›²® \μõ\› ‰»uÚ® ¹. 6,00,000. 
C¢u ÁøP ÁoPzvÀ •u½k ö\´¯¨£k® 
‰»uÚzv¼¸¢x Gvº£õºUP¨£k® Ámi ÂQu® 
10%. BS®. £[SuõμºPÎß Fv¯®  BskUS  
¹. 18,000. 

  Cμsk Á¸h `¨£º »õ£zøu Áõ[Q¯uß 
Ai¨£øh°À |Àö»snzvß ©v¨ø£U 
PshÔ¯Ä®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mohith Ltd.. which has Rs. 10,00,000 8% debentures of 
Rs. 100 each outstanding on 1.1.2016 on which interest is 
payable on 30th June and on 31st December each year is 
permitted to purchase its own debentures in the open 
market and cancel them or retain them or resell them at 
is option. 

 The company made the following purchase in the open 
market on 1.4.2016. 500 Debentures at Rs. 97 ex-interest. 

 Give appropriate journal entries if 

 (a)  The debentures were cancelled on the same day.  

 (b)  The debentures were retained till 1.7.2016 on which 
date they were cancelled. 

 ÷©õîz ¼ªöhm ¹. 10,00,000 8% Phß £zvμ[PÒ  
1.1.2016 AßÖ {¾»øÁ°À EÒÍ ¹. 100  JÆöÁõ¸ 
Bsk® áüß 30 ©ØÖ® i\®£º 31 AßÖ Ámi 
ö\¾zu¨£k®, Auß ö\õ¢u Phß £zvμ[PøÍ vÓ¢u 
\¢øu°À Áõ[PÄ®, AÁØøÓ μzx ö\´¯Ä® AÀ»x 
øÁzv¸UPÄ® AÀ»x Auß Â¸¨£¨£i ©ÖÂØ£øÚ 
ö\´¯Ä® AÝ©vUP¨£kQÓx. 
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 {ÖÁÚ® 1.4.2016. AßÖ vÓ¢u \¢øu°À ¤ßÁ¸® 

öPõÒ•uÀ ö\´ux. 500 Phß £zvμ[PÒ ¹. 97 •ßÚõÒ 

Ámi. 

ö£õ¸zu©õÚ £zv›øP EÒÏkPøÍ u¸P. 

 (A)  Phß £zvμ[PÒ A÷u |õÎÀ μzx ö\´¯¨£mhÚ.  

 (B)  Phß £zvμ[PÒ μzx ö\´¯¨£mh ÷uv 1.7.2016 
Áøμ uUPøÁUP¨£mhx. 

17. X ltd.. which was incorporated on May 1, 2016, acquired a 
business on January 1, 2016. The first accounts were 
closed on September 30, 2016. The gross profit for the 
period was Rs. 42,000 

 Detail of other expenses 

 General expenses Rs. 7,200 

 Directors’ remuneration Rs. 12,000 

 Preliminary expenses Rs. 2,000. 

 Rent upto June 30 was 6,000 per annum after which it 
was increased by 40% 

 Salary of the manager who on formation of the company 
had become a whole time director and whose 
remuneration has been included in the director’s 
remuneration given above, was at Rs. 5,100 per annum, 
before incorporation. 

 The company earned an uniform gross profit. The sales 
upto September 2016 were Rs. 98,000. The monthly 
average sales for the first four months of the year was 
one half of that of the remaining period. 

 Show the profit and loss account and indicate how you 
deal with the pre incorporation results. 
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 ÷© 1, 2016, CÀ öuõh[P¨£mh X Ltd., áÚÁ› 1, 2016. 
AßÖ J¸ ÁoPzøu¨ ö£ØÓx. •uÀ PnUSPÒ 
ö\¨h®£º 30, 2016. AßÖ ‰h¨£mhÚ C¢uU 
Põ»Pmhzvß ö©õzu »õ£® ¹. 42,000 

 ©ØÓ ö\»ÄPÎß ÂÁμ[PÒ 

 ö£õx ö\»ÄPÒ ¹. 7,200 

 C¯USÚºPÎß Fv¯® ¹. 12,000 

 Bμ®£ ö\»ÄPÒ ¹. 2,000. 

 áüß 30 Áøμ ÁõhøP BskUS 6,000 BP C¸¢ux 
Auß ¤ÓS 40% E¯ºzu¨£mhx. 

{ÖÁÚzvß E¸ÁõUPzvß ÷£õx •Ê ÷|μ C¯US|μõP 
C¸¢u ÷©»õÍ›ß \®£Í®, ÷©÷» öPõkUP¨£mh 
C¯USÚ›ß Fv¯zvÀ AÁμx Fv¯® 
÷\ºUP¨£mkÒÍx. ¹. 5,100 BskUS Cøn¨£uØS 
•ß. 

 {ÖÁÚ® J÷μ ©õv›¯õÚ ö©õzu »õ£zøu¨ ö£ØÓx. 
ö\¨h®£º 2016 Áøμ°»õÚ ÂØ£øÚ ¹. 98,000 Bsiß 
•uÀ |õßS ©õu[PÐUPõÚ ©õuõ¢vμ \μõ\› ÂØ£øÚ 
«u•ÒÍ Põ»zvß £õv¯õP C¸¢ux. 

»õ£® ©ØÖ® |èhU PnUøPU Põmi, J¸[Qøn¨¦US 
•¢øu¯ •iÄPøÍ G¨£iU øP¯õÐQÕºPÒ Gß£øuU 
SÔ¨¤hÄ®. 

18. Prepare a Balance Sheet as at 31st March 2000 from the 
following information of ABC Ltd as required under the 
Companies Act 1956. 

 Rs.  Rs. 

Term Loan 10,00,000 Loss for the year 3,58,000

Creditors 11,45,000 Sundry Debtors 12,25,000

Advance 3,72,000 Loan from 
Directors 

2,00,000
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 Rs.  Rs. 

Cash and bank 
balance 

2,75,000 Provision for 
Doubtful debts 

20,200

Staff Advance 55,000 Stock 4,00,000

Provision for tax 1,70,000 Fixed Assets 
(W.D.V.) 

51,50,000

Securities 
Premium 

4,75,000 Finished Goods 7,50,000

Loose Tools 50,000  

Investments 2,25,200  

General reserve 20,50,000  

Capital work-in-
progress 

2,00,000  

 Additional Information: 

 (a) Share Capital Consists: 

  (i) 30,000 Equity share of Rs. 100 each fully paid. 

 (b) 10000- 10% preference shares of Rs. 100 each fully 
paid. 

  (i) Term Loan is  Secured. 

  (ii) Depreciation on assets Rs. 5,00,000. 

 {ÖÁÚ[PÒ \mh® 1956 Cß RÌ ÷uøÁ¨£k® H¤] 
¼ªöhmiß ¤ßÁ¸® uPÁÀPÎ¼¸¢x ©õºa 31, 2000 
CÀ C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 

 ¹.  ¹. 

Põ» Phß 10,00,000 Á¸hzvØPõÚ 
CÇ¨¦ 

3,58,000

PhÜ¢÷uõº 11,45,000 £» PhÚõÎPÒ 12,25,000
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 ¹.  ¹. 

•ß£n® 3,72,000 C¯US|ºPÎhª¸¢x 
Phß 

2,00,000

öμõUP® ©ØÖ® 
Á[Q C¸¨¦ 

2,75,000 \¢÷uPzvØS›¯ 
PhßPÐUPõÚ 
JxUQk 

20,200

£o¯õÍº 
•ß£n® 

55,000 \μUQ¸¨¦ 4,00,000

Á›UPõÚ 
JxURk 

1,70,000 {ø»¯õÚ 
ö\õzxUPÒ 
(W.D.V.) 

51,50,000

£zvμ[PÒ 
•øÚ©® 

4,75,000 •iUP¨£mh 
ö£õ¸mPÒ 

7,50,000

uÍºÁõÚ 
P¸ÂPÒ 

50,000  

•u½kPÒ 2,25,200  
ö£õx C¸¨¦ 20,50,000  
‰»uÚ ÷Áø» 
|h¢x 
öPõsi¸UQÓx 

2,00,000  

TkuÀ uPÁÀ: 

 (A) £[S ‰»uÚ® öPõskÒÍx: 

  (i) 30,000 DUÂmi £[S JÆöÁõßÖ® ¹. 100 
•Êø©¯õP ö\¾zu¨£mhx. 

 (B) 10000- 10% •ßÝ›ø©¨ £[SPÒ JÆöÁõßÖ®  
¹. 100 •Êø©¯õP ö\¾zu¨£mhx. 

  (i) Põ» Phß £õxPõ¨£õÚx. 

  (ii) ö\õzxUPÎß ÷u´©õÚ® ¹. 5,00,000. 

19. Explain Briefly Various Provisions of accounting 
standard for amalgamation (AS- 14). 

 J¸[Qøn¨¦UPõÚ PnUQ¯À uμ{ø»°ß £À÷ÁÖ 
ÂvPøÍ _¸UP©õP ÂÍUPÄ® (AS- 14).  
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20. The authorized and paid up capital of a company consists 
of 1,000, 5% preference shares of Rs. 100 each and 20,000 
equity shares of Rs. 15 each, all fully called up and paid 
up. A person holds 300 preference and 2,000 equity 
shares. Find out the value of equity shares held by the 
person assuming that the normal annual profits of the 
company is Rs. 40,000 and the normal annual return on 
similar equity shares is 8% per annum. Assume that the 
company transfers 25% of the profit to general reserve 
and the profit above is profit after tax. 

 J¸ {ÖÁÚzvß A[RP›UP¨£mh ©ØÖ® ö\¾zu¨£mh 
‰»uÚ©õÚx 1,000, 5% Â¸¨£©õÚ £[SPÒ ¹. 100 u»õ 
©ØÖ® 20,000 DUÂmi £[SPÒ ¹. JÆöÁõßÖ® ¹. 15 
AøÚzx® •Êø©¯õÚ AøÇUP¨£mk £n® 
ö\¾zu¨£mhx. J¸ |£º ¹. 300 •ßÝ›ø© ©ØÖ® 2,000 
DUÂmi £[SPøÍ øÁzv¸UQÓõº. {ÖÁÚzvß \õuõμn 
Bsk »õ£® ¹. 40,000 ©ØÖ® C÷u ÷£õßÓ DUÂmi 
£[SPÎß \uõμn Á¸hõ¢vμ Á¸©õÚ® BskUS 8% 
BS®. {ÖÁÚ® »õ£zvÀ 25% ö£õx C¸¨¦US 
©õØÖQÓx ©ØÖ® ÷©÷» EÒÍ »õ£® Á›US¨ ¤¢øu¯ 
»õ£® GßÖ øÁzxUöPõÒ÷Áõ®. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Cost accountancy? 

 Âø» PnUPÂ¯À GßÓõÀ GßÚ? 

2. What is direct cost and indirect cost? 

 ÷|μi ö\»Ä ©ØÖ® ©øÓ•P ö\»Ä GßÓõÀ GßÚ? 

3. What is inventory turnover ratio?  

 \μUS ÂØ£øÚ ÂQu® GßÓõÀ GßÚ? 

4. State the meaning of weighted average stock method. 

 Gøh°h¨£mh \μõ\› £[S •øÓ°ß ö£õ¸øÍU 
SÔ¨¤hÄ®. 

5. What is job evaluation? 

 ÷Áø» ©v¨¥k GßÓõÀ GßÚ? 

Sub. Code 
22BCO5C2 
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6. What is idle time? 

 ö\¯»ØÓ ÷|μ® GßÓõÀ GßÚ? 

7. Define codification. 

 SÔ±møh Áøμ¯ÖP. 

8. Write a note on fixed overhead. 

 {ø»¯õÚ ÷©À{ø»°À J¸ SÔ¨ø£ GÊuÄ®. 

9. What is job costing? 

 ÷Áø» ö\»Ä GßÓõÀ GßÚ? 

10. What is process costing? 

 ö\¯À•øÓ ö\»Ä GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) State the objectives of cost accounting. 

  AhUPÂø» PnURmiß ÷|õUP[PøÍU 
SÔ¨¤hÄ®. 

Or 

 (b) Distinguish between cost and financial accounts in 
detail. 

  AhUPÂø» ©ØÖ® {vU PnUSPøÍ Â›ÁõP 
÷ÁÖ£kzxP. 

12. (a) The annual requirement of material in a factory is 
30,000 units. The interest and carrying cost is 10% 
of the cost of material. Cost of placing an order is 
Rs.100. Cost of material is Rs.60 per unit. Find out 
the Economic Ordering Quantity and prove the 
result through tabulation. 
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  J¸ öuõÈØ\õø»°À BskUPõÚ ö£õ¸Ò ÷uøÁ 
30,000 A»SPÒ, Ámi ©ØÖ® _©¢x ö\À¾® ö\»Ä 
ö£õ¸Îß Âø»°À 10% BS®. Bºhº 
ö\´ÁuØPõÚ ö\»Ä ¹.100. ö£õ¸Ò Âø» J¸ 
³Ûm ¹.60. ö£õ¸Íõuõμ Á›ø\¨£kzx® AÍøÁU 
PshÔ¢x, AmhÁøn ‰»® •iøÁ {¹¤UPÄ®. 

Or 

 (b) The usage of material X, Y and Z in a company are 
as follows: 

  Maximum usage — 500 units per week each; 
Minimum usage — 200 units per week each; 
Normal usage — 350 units per week each; Re-order 
quantity — X: 2200 units; Y: 2000 units; Z: 2500 
units. 

  Re-order period — X (2 to 4 weeks); Y (3 to 6 weeks); 
Z (1 to 3 weeks). 

  Calculate for each material  

  (i) Maximum level  

  (ii) Minimum level  

  (iii) Re-order level  

  (iv) Average stock level. 

  J¸ {ÖÁÚzvÀ ö£õ¸Ò X, Y ©ØÖ® Z £¯ß£õk 
¤ßÁ¸©õÖ : 

  AvP£m\ £¯ß£õk  — JÆöÁõ¸ Áõμ•® 500 

A»SPÒ ; SøÓ¢u£m\ £¯ß£õk – ÁõμzvØS  — 

200 A»SPÒ; \õuõμn £¯ß£õk — JÆöÁõ¸ 

Áõμ•® 350 A»SPÒ; ©Ö Bºhº AÍÄ — X: 2200 

A»SPÒ; Y: 2000 A»SPÒ; Z: 2500 A»SPÒ. 
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  ©Ö Bºhº Põ»® — X (2 •uÀ 4 Áõμ[PÒ);  
Y (3 •uÀ 6 Áõμ[PÒ); Z (1 •uÀ 3 Áõμ[PÒ). 

  JÆöÁõ¸ ö£õ¸ÐUS® PnUQhÄ® 

  (i) AvP£m\ {ø» 

  (ii) SøÓ¢u£m\ {ø»  

  (iii) ©Ö&Á›ø\ {ø» 

  (iv) \μõ\› £[S {ø». 

13. (a) Calculate wages for workers X, Y and Z from the 
following by Merrick’s Piece Rate method and 
Normal Piece Rate method. 

  Standard output of the workers per week is  
45 units. Normal piece rate is Rs.8 per unit. Output 
of X is 35 units, Y is 42 units and Z is 48 units. 

  \õuõμn ¤ì ÷μm •øÓ ‰»® X, Y ©ØÖ® Z 
öuõÈ»õÍºPÐUPõÚ Fv¯zøu ¤ßÁ¸ÁÚ 
ÁØÔ¼¸¢x PnUQhÄ®. 

  ÁõμzvØS öuõÈ»õÍºPÎß {ø»¯õÚ öÁÎ±k  
45 A»SPÒ. \õuõμn xsk Âø» ³ÛmkUS ¹.8. 
X Cß öÁÎ±k 35 A»SPÒ, Y 42 A»SPÒ ©ØÖ® 

Z 48 A»SPÒ. 

Or 

 (b) Calculate wages for workers X and Y by Piece Rate 
method and Taylor’s differential piece rate method 
from the following. 

  Standard time per unit is 15 minutes. Normal rate 
per hour is Rs.9. Differential piece rate are that 75% 
of piece rate for below standard workers and 125% 
of piece rate for above standard workers. In a day X 
produced 30 units and Y produced 40 units. Normal 
working hours per day is 8. 
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  ¤ßÁ¸ÁÚÁØÔÀ C¸¢x ¥ì ÷μm •øÓ ©ØÖ® 

öh´»›ß iL£μßæ¯À ¥ì ÷μm •øÓ ‰»® X 

©ØÖ® Y öuõÈ»õÍºPÐUPõÚ Fu¯zøuU 

PnUQk[PÒ. 

  J¸ ³ÛmkUPõÚ {ø»¯õÚ ÷|μ® 15 {ªh[PÒ. 

J¸ ©o ÷|μzvØS \õuõμn Pmhn® ¹.9.  

÷ÁÖ£mh xsk Ãu® Gß£x, uμzvØSU R÷Ç EÒÍ 

öuõÈ»õÍºPÐUS xsk ÂQuzvÀ 75% ©ØÖ® 

uμ©õÚ öuõÈ»õÍºPÐUS 125% xsk ÂQu©õS®. 

J¸ |õÎÀ X 30 A»SPøÍ²®, Y 40 A»SPøÍ²® 

EØ£zv ö\´ux. J¸ |õøÍUS \õuõμn ÷Áø» 

÷|μ® 8. 

14. (a) The estimated expenses for a manufacturing 

company are on the following basis: 

  Number of machines — 10; Normal working hours 

in a week — 38 hours; Number of weekly loss of 

hours on maintenance — 3 hours per machine; 

estimated annual overhead — Rs.70,000; Estimated 

direct Wage rate per hour per machine — Rs.10; 

Number of weeks worked — 40; Actual expenses 

incurred for 4 weeks are as follows: Machine hours 

produced — 1,500; Overhead incurred — Rs.7,000; 

wages incurred — Rs.1,59,000; calculate overhead 

rate per machine hour and under or over absorption 

of wages and overheads. 
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  J¸ EØ£zv {ÖÁÚzvØPõÚ ©v¨¤h¨£mh 
ö\»ÄPÒ ¤ßÁ¸® Ai¨£øh°À EÒÍÚ. 

C¯¢vμ[PÎß GsoUøP — 10; J¸ ÁõμzvÀ 

C¯À£õÚ ÷Áø» ÷|μ® — 38 ©o ÷|μ®; 
£μõ©›¨¤À Áõμõ¢vμ ©o÷|μ CÇ¨¦PÎß 

GsoUøP – J¸ C¯¢vμzvØS 3 ©o÷|μ®; 
©v¨¤h¨£mh Bsk ÷©À{ø» — ¹.70,000; J¸ 
C¯¢vμzvØS J¸ ©o÷|μzvØS ©v¨¤h¨£mh 

÷|μi Fv¯ ÂQu® — ¹.10; ÷Áø» ö\´u 

Áõμ[PÎß GsoUøP — 40; 4 Áõμ[PÐUSa 

ö\´¯¨£k® Esø©¯õÚ ö\»ÄPÒ ¤ßÁ¸©õÖ: 
EØ£zv ö\´¯¨£mh C¯¢vμ ÷|μ® — 1,500; 
÷©À{ø» ö\»Ä — ¹.7,000; Fv¯® — ¹.1,59,000 
J¸ C¯¢vμ ©o÷|μzvØS ÷©À{ø» ÂQuzøuU 
PnUQkuÀ ©ØÖ® Fv¯[PÒ ©ØÖ® 
÷©À{ø»PÎß EÔg_u¾USU RÌ AÀ»x 

AvP©õPU PnUQkuÀ. 

Or 

 (b) Explain briefly the different methods of absorption 
of production overhead. 

  EØ£zv ÷©À{ø»ø¯ EÔg_ÁuØPõÚ £À÷ÁÖ 
•øÓPøÍ _¸UP©õP ÂÍUS[PÒ. 

15. (a) A manufacturing company provides the following 
information related to its process I. 

  Material consumed 1,500 units @ Rs. 6 Direct wages 
Rs.7,500, Direct expenses Rs.6,210. The normal loss 
is 12% of input. The scrap in the process was sold  
@ Rs.1.50 per unit. The net production in the 
process is 1,100 units. 

  Prepare process I Account and find out the cost per 
unit of Transfer to process II. 
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  J¸ EØ£zv {ÖÁÚ® Auß ö\¯À•øÓ I 
öuõhº£õÚ ¤ßÁ¸® uPÁÀPøøÍ ÁÇ[SQÓx. 

  1,500 ³ÛmPÒ @ ¹.6 ÷|μi Fv¯® ¹.7,500, ÷|μi 

ö\»ÄPÒ ¹.6,210. C¯À£õÚ CÇ¨¦ EÒÏmiÀ  
12% BS®. ö\¯À£õmiÀ EÒÍ ìQμõ¨ J¸ ³Ûm 

¹.1.50 US ÂØP¨£mhx. ö\¯À£õmiÀ {Pμ EØ£zv 

1,100 A»SPÒ BS®. 

  ö\¯À•øÓ I PnUøPz u¯õ›zx, ö\¯À•øÓ IIUS 
£›©õØÓzvß J¸ ³Ûmiß Âø»ø¯U 

PshÔ¯Ä®. 

Or 

 (b) The following information are related to contract of 
X Ltd., for the year ending 31st March 2024. 

  Direct Material — Rs.3,00,000; Direct wages —
Rs.2,20,000; Direct expenses — Rs.1,70,000; 
Indirect expenses — Rs.50,000. The contract price 
was Rs.12,00,000. The cash received on 31st March 
2024 amounted to Rs.6,00,000 being 75% of work 
certified. The work uncertified was valued at 
Rs.40,000. Prepare Contract account and find out 
the profit to be credited to P&L account. 

  31 ©õºa 2024 CÀ •iÁøh²® BsiØPõÚ X Ltd 

Ehß£iUøPUS Esø©¯õÚøÁ. 

  ÷|μi ö£õ¸Ò ¹.3,00,000; ÷|μi Fv¯® ¹.2,20,000; 
÷|μi ö\»ÄPÒ ¹.1,70,000; ©øÓ•P ö\»ÄPÒ 

¹.50,000. J¨£¢u Âø» ¹.12,00,000. 31 ©õºa 2024 
AßÖ ö£Ó¨£mh £n©õÚx ¹.6,00,000 75% ÷Áø» 
\õßÓÎUP¨£mhx. \õßÔuÌ ö£Óõu £o°ß ©v¨¦ 

¹.40,000. J¨£¢uU PnUøPz u¯õ›zx, P&L 
PnUQÀ ÁμÄ øÁUP¨£k® »õ£zøuU PshÔ¯Ä®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain briefly the different methods of classification of 

costs. 

 ö\»ÄPøÍ ÁøP¨£kzx® öÁÆ÷ÁÖ •øÓPøÍ 

_¸UP©õP ÂÍUPÄ®. 

17. Prepare Stores ledger account on the basis of FIFO 

method of pricing issue of material, from the following 

particulars : 

Date Particulars 

March 1 Balance 200 units @ Rs.15 per unit 

March 5 Received 400 units @ Rs.18 per unit 

March 10 Issued 300 units 

March 15 Issued 200 units 

March 16 Received back from production centre, 50 

units (issued on 10th march) 

March 18 Received 500 units @ Rs.20 per unit. 

March 20 Returned to vendor 100 units (purchased on 

5th March) 

March 25 Issued 200 units 

March 30 Issued 150 units 

 On verification at 31st March it was found out that a 

shortage of 60 units of material. 
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 ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x, ö£õ¸Îß Âø» {ºn¯® 
ö\´²® FIFO •øÓ°ß Ai¨£øh°À ì÷hõºì ö»máº 
PnUøPz u¯õ›UPÄ® :  

÷uv ÂÁμ[PÒ 

©õºa 1 £õUQ 200 ³ÛmPÒ @ ¹.15 ³Ûm 

©õºa 5 J¸ ³ÛmkUS ¹.18 @ 400 ²ÛmPÒ 
ö£Ó¨£mhÚ 

©õºa 10 300 A»SPÒ ÁÇ[P¨£mhÚ 

©õºa 15 200 A»SPÒ ÁÇ[P¨£mhÚ 

©õºa 16 EØ£zv ø©¯zv¼¸¢x v¸®£¨ 
ö£Ó¨£mhx, 50 A»SPÒ (©õºa 10 AßÖ 
öÁÎ°mhx) 

©õºa 18 J¸ ³ÛmkUS ¹.20  @ 500 ³ÛmPÒ 
ö£Ó¨£mhÚ 

©õºa 20 100 ³Ûm ÂØ£øÚ¯õÍ¸USz v¸®¤¯x 
(©õºa 5 AßÖ Áõ[P¨£mhx) 

©õºa 25 200 A»SPÒ ÁÇ[P¨£mhÚ 

©õºa 30 150 A»SPÒ ÁÇ[P¨£mhÚ 

 31 B® ÷uv \›£õºzu¼À 60 ³Ûm ö£õ¸Ò umk¨£õk 
C¸¨£x Psk¤iUP¨£mhx. 

18. In a factory, the standard time allowed for producing  
25 units of a product is 1 hour. The hourly rate is Rs.11. 
Workers A, B and C produced 275 units, 200 units and 
325 units respectively in a day. 

 Calculate  

 (a) wages for each worker on that day  

 (b) effective rate of earning per hour for each worker 
under  

  (i) Halsey premium Bonus (bonus @ 50% of time 
saved) Plan  

  (ii) Rowan premium method  

  (iii) Straight piece rate method. 
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 J¸ öuõÈØ\õø»°À, J¸ u¯õ›¨¦ 25 ³ÛmPøÍ EØ£zv 
ö\´¯ AÝ©vUP¨£k® {ø»¯õÚ ÷|μ® 1 ©o ÷|μ®. 
J¸ ©o ÷|μ Pmhn® ¹.11. öuõÈ»õÍºPÒ A, B ©ØÖ® 
C J¸ |õÎÀ •øÓ÷¯ 275 A»SPÒ, 200 A»SPÒ ©ØÖ® 
325 A»SPÒ EØ£zv ö\´uÚº. 

 (A) A¢u |õÎÀ JÆöÁõ¸ öuõÈ»õÎUS® Fv¯zøuU 
PnUQk[PÒ 

 (B) JÆöÁõ¸ öuõÈ»õÎUS® J¸ ©o ÷|μ Á¸Áõ´ 
ÂQu®  

  (i) íõÀ] ¤Ÿª¯® ÷£õÚì (÷£õÚì @ 50% 
÷\ªUP¨£k® ÷|μ®) vmh®  

  (ii) ÷μõÁß ¤Ÿª¯® •øÓ 

  (iii) ÷|μõP xsk ÂQu® •øÓ. 

19. Prepare a departmental distribution summary from the 
following : 
Particulars Production Department Service Department

 A B C X Y 

Direct material (Rs.) 18,000 12,000 10,000 6,000 4,000 

Direct Wages (Rs.) 11,000 8,000 7,000 4,000 2,000 

Direct expenses (Rs.) 4,000 3,000 2,000 1,230 1,220 

Area sq. ft. 300 400 200 200 100 

Plant and Machinery (Rs.) 80,000 70,000 60,000 20,000 – 

No. of workers 40 35 25 20 10 

Light points 25 20 15 10 10 

Horse power 200 150 100 50 – 

 The expenses incurred by the company for the period are 
as follows: 

 General overhead — Rs.16,000; Rent — Rs.6,000; 
Lighting — Rs.800; Power — Rs.1,500; Store-keeping —
Rs.1,000; Amenities to workers — Rs.1,300; Depreciation 
of plant — Rs.6,900; Repairs of plant — Rs.2,300. The 
company decided to apportion the expenses of service 
department X in the ration of direct wages and of Y in the 
ratio 5:3:2 to department A, B and C respectively. 
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 ¤ßÁ¸ÁÚÁØÔ¼¸¢x xøÓ\õº¢u Â{÷¯õPa 
_¸UPzøuz u¯õ›UPÄ®. 
ÂÁμ[PÒ EØ£zv x©øÓ ÷\øÁ xøÓ 

 A B C X Y 

÷|μi ö£õ¸Ò (¹.) 18,000 12,000 10,000 6,000 4,000 

÷|μi Fv¯® (¹.) 11,000 8,000 7,000 4,000 2,000 

÷|μi ö\»ÄPÒ (¹.) 4,000 3,000 2,000 1,230 1,220 

£μ¨£ÍÄ \xμ Ai 300 400 200 200 100 

Bø» ©ØÖ®      

C¯¢vμ[PÒ (¹.) 80,000 70,000 60,000 20,000 – 

öuõÈ»õÍºPÎß      

GsoUøP 40 35 25 20 10 

JÎ ¦ÒÎPÒ 25 20 15 10 10 

Svøμ \Uv 200 150 100 50 – 

 A¢uU Põ»PmhzvØS {ÖÁÚ® ÷©ØöPõsh ö\»ÄPÒ 
¤ßÁ¸©õÖ : 

 ö£õx ÷©À{ø» — ¹.16,000; ÁõhøP — ¹.6,000; ÂÍUS 
— ¹.800; £Áº — ¹.1,500; Pøh øÁzuÀ — ¹.1,000; 
öuõÈ»õÍºPÐUPõÚ Á\vPÒ — ¹.1,300; Bø»°ß 
÷u´©õÚ® — ¹.6,900; Bø» £Êx — ¹.2,300. ÷\øÁz 
xøÓ X Cß ö\»ÂÚ[PøÍ ÷|μi Fv¯zv¾® Y Cß 
5:3:2 GßÓ ÂQuzv¾® •øÓ÷¯ A, B ©ØÖ® C BQ¯ 
xøÓPÐUS¨ £[Rk ö\´¯ {ÖÁÚ® •iÄ ö\´ux. 

20. Define the equivalent production. State the procedures 
for converting the in completed units into completed 
units. 

 \©©õÚ EØ£zvø¯ Áøμ¯ÖUPÄ®. §ºzv ö\´¯¨£mh 
A»SPøÍ {øÓÄ ö\´¯¨£mh A»SPÍõP 
©õØÖÁuØPõÚ |øh•øÓPøÍU SÔ¨¤hÄ®. 

  

———————— 
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COMMERCIAL LAW 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is contract? 

 J¨£¢u® GßÓõÀ GßÚ? 

2. What is consideration? 

 £›^»øÚ GßÓõÀ GßÚ? 

3. What is meant by fidelity guarantee? 

 |®£P EzuμÁõu® GßÓõÀ GßÚ? 

4. What is subrogation? 

 xøn{ø» GßÓõÀ GßÚ? 

5. Define bailment. 

 ¤ønø¯ Áøμ¯Ö. 

6. What is meant by lien? 

 E›ø© GßÓõÀ GßÚ? 
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7. Who may employ an agent? 

 J¸ •PÁøμ ¯õº £o¯©ºzu»õ®? 

8. What is agency ratification? 

 Höáß] A[RPõμ® GßÓõÀ GßÚ? 

9. Define a contract of sale. 

 ÂØ£øÚ J¨£¢uzøu Áøμ¯Ö. 

10. What are specific goods? 

 SÔ¨¤mh ö£õ¸mPÒ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Distinction between a void contract and voidable 
contract. 

  öÁØÔh©õÚ J¨£¢u® ©ØÖ® ö\À»õu J¨£¢u® 
BQ¯ÁØÖUS Cøh÷¯¯õÚ ÷ÁÖ£kzxP. 

Or 

 (b) Explain the legal rules relating to an offer. 

  \¾øP öuõhº£õÚ \mh ÂvPøÍ ÂÍUSP. 

12. (a) Explain the features of a contract of guarantee. 

  EzuμÁõu J¨£¢uzvß A®\[PøÍ ÂÍUSP. 

Or 

 (b) Explain the essentials of a contract of guarantee. 

  EzuμÁõu J¨£¢uzvß Azv¯õÁ]¯[PøÍ 
ÂÍUSP. 
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13. (a) What are the requisites of bailment? 

  áõ«ß ö£ÖÁuØPõÚ ÷uøÁPÒ GßÚ? 

Or 

 (b) Distinguish particular lien from general lien.  

  ö£õx E›ø©°¼¸¢x SÔ¨¤mh E›ø©ø¯ 
÷ÁÖ£kzxP. 

14. (a) Explain the sub agent and substituted agent. 

  xøn •PÁº ©ØÖ® ©õØÖ •PÁº £ØÔ ÂÍUSP. 

Or 

 (b) What are the circumstances in which an agent is 
personally liable? 

  J¸ •PÁº uÛ¨£mh •øÓ°À G¢ua `Ì{ø»PÎÀ 
ö£õÖ¨÷£ØQÓõº? 

15.  (a) Explain the exceptions to the rule “caveat emptor”. 

  ÂvÂ»USPøÍ ÂÍUPÄ® “÷PÂ¯m G®¨hº”. 

Or 

 (b) Explain the essential of a conditions and 
warranties. 

  {£¢uøÚPÒ ©ØÖ® EzuμÁõu[PÎß 
Azv¯õÁ]¯zøu ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the essential of a valid contract. 

 ö\À¾£i¯õS® J¨£¢uzvß Azv¯õÁ]¯zøu¨ £ØÔ 
ÂÁõv. 

17. Discuss the different modes of discharge of surety. 

 EzuμÁõuzøu ÂkÂUS® öÁÆ÷ÁÖ •øÓPøÍ¨ £ØÔ 
ÂÁõv. 
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18. Explain the duties of bailor and bailee. 

 ¤øn Gk¨£Áº ©ØÖ® ¤øn Gk¨£Á›ß Phø©PøÍ 
ÂÍUSP. 

19. Explain the classification of agent. 

 •PÁº ÁøP¨£õmøh ÂÍUSP. 

20. Explain the rights and duties of seller and buyer. 

 ÂØ£øÚ¯õÍº ©ØÖ® Áõ[S£Á›ß E›ø©PÒ ©ØÖ® 
Phø©PøÍ ÂÍUSP. 

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define the term tax. 

 Á›ø¯ Áøμ¯ÖUPÄ®. 

2. Write the meaning of income tax assessment. 

 Á¸©õÚ Á› ©v¨¥miß ö£õ¸øÍ GÊx[PÒ. 

3. Define the term previous year. 

 •¢øu¯ Bsk Põ»zøu Áøμ¯ÖUPÄ®. 

4. What is revenue expenditure? 

 Á¸Áõ´ ö\»Ä GßÓõÀ GßÚ? 

5. What is profit in lieu of salary? 

 \®£ÍzvØS £v»õP GßÚ »õ£®? 

6. Write a short note on standard deduction. 

 {ø»¯õÚ Â»US £ØÔ¯ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 
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7. Explain deemed profit u/s 41. 

 P¸u¨£mh »õ£® u/s 41– I ÂÍUS[PÒ. 

8. What is the cost of acquisition? 

 øP¯P¨£kzxu¾UPõÚ ö\»Ä GßÚ? 

9. What do you mean by set-off of losses? 

 CÇ¨¦PÎß öuõS¨¦ GßÖ }[PÒ GßÚ ö\õÀQÕºPÒ? 

10. What is inter-source adjustment? 

 Cßhº– ÷\õºì \›ö\´uÀ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) State the different objectives of taxation. 

  Á›Âv¨¤ß öÁÆ÷ÁÖ ÷|õUP[PøÍU SÔ¨¤hÄ®. 

Or 

 (b) Distinguish between direct and indirect taxes. 

  ÷|μi ©ØÖ® ©øÓ•P Á›PøÍ ÷ÁÖ£kzx[PÒ. 

12. (a) Distinguish between revenue and capital receipts. 

  Á¸Áõ´ ©ØÖ® ‰»uÚ μ^xPøÍ ÷ÁÖ£kzx[PÒ. 

Or 

 (b) Mr. Ashok is an Indian citizen working with a 
multinational company being posted in France. 
During the PY 2023-24, he comes to India for a visit 
of 130 days. In the preceeding 4 years Mr. Ashok is 
in India for more than 900 days. His annual income 
for the previous year is follows: 

  Income from salary in France -Rs. 10,00,000. 

  Income from fixed deposits in Banks in India  
Rs. 18,00,000. 

  Determine the residential status of Mr. Ashok. 
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  v¸. A÷\õU, ¤μõß]À £o¯©ºzu¨£k® £ßÚõmk 

{ÖÁÚzvÀ £o¦›²® C¢v¯U Si©Pß.  

PY 2023-24, ß ÷£õx, AÁº 130 |õmPÒ Á¸øPUPõP 

C¢v¯õ Á¸QÓõº. •¢øu¯ 4 BskPÎÀ  

v¸. A÷\õU 900 |õmPÐUS® ÷©»õP C¢v¯õÂÀ 

C¸UQÓõº. •¢øu¯ Bsk AÁμx Bsk 

Á¸©õÚ® ¤ßÁ¸©õÖ : 

  ¤μõß]À \®£Ízvß ‰»® Á¸©õÚ® ¹. 10,00,000 

  C¢v¯õÂÀ EÒÍ Á[QPÎß {ø»¯õÚ 

øÁ¨¦zöuõøP ‰»® Á¸©õÚ® ¹. 18,00,000.  

v¸. A÷\õUQß Si°¸¨¦ {ø»ø¯z wº©õÛUPÄ®. 

13. (a) Smitha is an employee of a partnership firm, she 

submits the following information Basic salary  

Rs. 30,000 per month, Dearness Allowance  

Rs. 8,000 per month (1/4 of which is part of salary 

for retirement benefits) Employer’s contribution to 

provident fund Rs. 4,000 per month. (smitha makes 

an equal contribution) Interest credited at the rate 

of 15 per cent: Rs. 30,000. Commission received by 

her on turnover, Rs. 10,000. Fixed commission per 

month Rs. 3,000. Bonus Rs. 5,000. Children hostel 

expenditure allowance received for 3 of her children 

Rs. 15,000. Find out the Gross Income of Smitha if 

the Provident Fund is 

  (i) Statutory provident fund 

  (ii) Recognized provident fund 

  (iii) Unrecognized provident fund. 
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  ìªuõ J¸ Tmhõsø© {ÖÁÚzvß FÈ¯º, AÁº 
¤ßÁ¸® uPÁø»a \©º¨¤UQÓõº. 

  Ai¨£øh \®£Í® ©õu® ¹. 30,000 APÂø»¨£i 
©õu®  ¹. 8,000 (CvÀ 1/4 J´Åv¯¨ 
£»ßPÐUPõÚ \®£Ízvß J¸ £Sv) Á¸[Põ» 
øÁ¨¦ {vUS •u»õÎ°ß £[PÎ¨¦ ©õu®  
¹. 4,000 (ìªuõ \©©õÚ £[PÎ¨ø£a ö\´QÓõº) 15 
\uÂQu® Ámi ÁμÄ ¹. 30,000. ÂØÖ•uÀ «x 
AÁÒ ö£ØÓ Pªåß, ¹. 10,000.  {ø»¯õÚ Pªåß 
©õu® ¹. 3,000. ÷£õÚì ¹. 5,000. AÁμx  
3 SÇ¢øuPÐUS SÇ¢øuPÒ Âkv ö\»ÂÚ 
EuÂzöuõøP ¹. 15,000. Á¸[Põ» øÁ¨¦ {v 

  (i) \mh¨§ºÁ Á¸[Põ» øÁ¨¦ {v 

  (ii) A[RP›UP¨£mh Á¸[Põ» øÁ¨¦ {v 

  (iii) A[RP›UP¨£hõu Á¸[Põ» øÁ¨¦ {v 
GßÓõÀ ìªuõÂß ö©õzu Á¸©õÚzøuU 
PshÔ¯Ä®. 

Or 

 (b) Mr. X owns a house at Agra (municipal value  
Rs. 20,000) of the fair of Rs. 24,000 p.a. During the 
previous year 2023-24. 

  Expenses were : Municipal taxes Rs. 6,000, Repairs 
Rs. 2,000 , fire insurance premium Rs. 3,500, Land 
revenue Rs. 4,000 and ground rent Rs. 2,000. A loan 
of Rs. 30,00,000 was taken on 1st  April 1999 @  
15% p.a. For construction of the house which was 
completed on 31st December, 1991. Nothing was 
repaid on the loan account so far. Find out his 
taxable income from house property for the 
assessment year 2024-25. The house was self 
occupied throughout the P.Y.  
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  ªìhº GUì BUμõÂÀ J¸ Ãk EÒÍx (|Pμõm] 
©v¨¦ ¹. 20,000 ) {¯õ¯©õÚ ÁõhøP ¹. 24,000 
p.a •¢øu¯ BsiÀ 2023–24. 

  ö\»ÄPÒ : |Pμõm] Á› ¹. 6,000, £Êx ¹. 2,000, w 
Põ¨¥k ¤›«¯® ¹. 3,500 , {» Á¸Áõ´ ¹. 4,000 
©ØÖ®  uøμ ÁõhøP ¹. 2,000. PhÚõP ¹. 30,00,000 

H¨μÀ 1, 1999 AßÖ GkUP¨£mhx @ 15% p.a. 
i\®£º 31, 1991 CÀ Pmi •iUP¨£mh Ãmiß 
Pmk©õÚzvØPõP. Phß PnUQÀ CxÁøμ GxÄ® 
v¸¨¤a ö\¾zu¨£hÂÀø». 2024–25 B® 
BsiØPõÚ Ãmka ö\õzv¼¸¢x Á› ÂvUPUTi¯ 
Á¸©õÚzøuU PshÔ¯Ä®. Ãk •ÊÁx® ¤.J´. 

14. (a) From the following, compute the taxable income 
under the head income from business, profit before 
adjusting the following items is Rs. 5,50,000 

  Administration expenses – Rs. 10,000, Trade 
expenses – Rs. 5,000; House hold expenses  
Rs. 3,000; Discount allowed –  Rs. 4,000; Income tax 
– Rs. 400; Provision for bad debts – Rs. 2,000; Bad 
debts – 3,000 ; Donation to P.M. National relief fund 
– Rs. 4,000 Legal fee – Rs. 200. 

  ¤ßÁ¸ÁÚÁØÔÀ C¸¢x, ÁoPzv¼¸¢x Á¸® 
Á¸©õÚzvß RÌ Á› ÂvUPUTi¯ Á¸Áõø¯U 
PnUQk[PÒ, ¤ßÁ¸® ö£õ¸mPøÍa \›ö\´ÁuØS 
•ß »õ£® ¹. 5,50,000. 

  {ºÁõP ö\»ÄPÒ ¹. 10,000; ÁºzuP ö\»ÄPÒ – 
¹.5,000; Ãmk ö\»ÄPÒ – ¹.3,000; uÒÐ£i 
AÝ©v – ¹. 4,000; Á¸©õÚ Á›  – ¹. 400; ÁõμU 
PhßPÐUPõÚ JxURk – ¹. 2,000; ÁμõUPhß –  

¹. 3,000;  P.M. ÷u]¯ {Áõμn {vUS |ßöPõøh – 
¹. 4,000; \mh Pmhn®– ¹. 200. 

Or 
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 (b) M owned a residential house at Madurai, the 
original cost of which was Rs. 1,00,000 It was 
acquired on 1-9-2005. He sold the house on  
31-3-2011 for Rs. 8,00,000 and constructed another 
house on 31-3-2012 at Trichy for Rs. 6,00,000. The 
second house at Trichy was sold by him for  
Rs. 30,00,000 on 30-4-2023. Discuss the impact of 
these transactions with regard to assessment to 
capital gains. 

  M-ØS ©xøμ°À J¸ Si°¸¨¦ Ãk C¸¢ux, Auß 
A\À Âø» ¹. 1,00,000. Cx 1–9–2005 AßÖ 
øP¯P¨£kzu¨£mhx. 31–3–2011 AßÖ A¢u 
Ãmøh ¹. 8,00,000 US ÂØÖ, 31–3–2012 AßÖ  
v¸a]°À ¹. 6,00,000 US ©ØöÓõ¸ ÃmøhU 
PmiÚõº. v¸a]°À EÒÍ CμshõÁx Ãmøh  
30–4–2023 AßÖ ¹. 30,00,000 US ÂØÓõº. ‰»uÚ 
Buõ¯[PÐUPõÚ ©v¨¥møh¨ ö£õÖzuÁøμ C¢u 
£›ÁºzuøÚPÎß uõUPzøu¨ £ØÔ ÂÁõvUPÄ®. 

15. (a) Compute the tax liability to Mr. X for the following 
details given below : 

 Rs. 

Income from Salary 1,50,000

Income from H/P let out (not computed) 15,000

Short term capital gain 5,000

Long term capital gain 10,000

Income from other sources 60,000

Total deductions under chapter VIA except 80G 20,000

Donation to a local authority for family planning 27,000

  R÷Ç öPõkUP¨£mkÒÍ ¤ßÁ¸® ÂÁμ[PÐUS  
Mr. X US Á›¨ ö£õÖ¨ø£U PnUQk[PÒ. 

 ¹. 

\®£Ízv¼¸¢x Á¸©õÚ® 1,50,000

H/P C¼¸¢x Á¸©õÚ®  

ö»m AÄm (PnUQh¨£hÂÀø») 15,000
SÖQ¯ Põ» ‰»uÚ Buõ¯® 5,000
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 ¹. 

}sh Põ» ‰»uÚ Buõ¯® 10,000
¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 60,000

80 G  uÂμ Azv¯õ¯® VIA Cß RÌ ö©õzu Â»USPÒ 20,000
Sk®£U Pmk¨£õmkUPõP EÒÑº  

AvPõ›US |ßöPõøh 27,000

Or 

 (b) How would you determine the net income of an 
individual? 

  J¸ |£›ß {Pμ  Á¸©õÚzøu GÆÁõÖ wº©õÛ¨£x?  

 Part C  (3 × 10 =30) 

Answer any three questions. 

16. Explain the historical development of the Income tax act 
in detail. 

 Á¸©õÚ Á›a \mhzvß Áμ»õØÖ ÁÍºa]ø¯ Â›ÁõP 
ÂÍUPÄ®. 

17. Sunil earns the following income during the previous year 
2023-24. 

 (a) Interest from an Indian company received in 
Germany Rs. 1,00,000 

 (b) Pension from former employer in India received in 
U.K. -Rs. 2,00,000 

 (c) Profits made from a business in Hongkong which is 
controlled from India, (Half of the profits being 
received in India) Rs. 20,000. 

 (d) Income from companies in the USA and received 
India -Rs. 1,00,000. 

 (e) Income from agriculture in the USA and received in 
India -Rs. 10,000. 
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 (f) Income from employment in Japan received there 
Rs. 20,000. 

 (g) Past untaxed profits brought to India – Rs. 50,000. 

  Compute Gross Total Income of Sunil for the 
assessment year 2024-25 if he is: 

  (i) Resident and Ordinarily resident in India. 

  (ii) Resident but not Ordinarily resident in India. 

  (iii) Non Resident in India. 

 •¢øu¯ Bsk 2023–24 CÀ _ÛÀ ¤ßÁ¸® 
Á¸©õÚzøu¨ ö£ØÓõº. 

 (A) öáº©Û°À C¢v¯õ {ÖÁÚzvhª¸¢x ö£Ó¨£mh 
Ámi ¹. 1,00,000 

 (B) C¢v¯õÂÀ •ßÚõÒ £o¯©ºzx£ÁºPÒ 
C[Q»õ¢vÀ ö£ØÓ J´Åv¯®– ¹. 2,00,000 

 (C) C¢v¯õÂÀ C¸¢x Pmk¨£kzu¨£k® íõ[Põ[QÀ 
EÒÍ ÁoPzvß ‰»® QøhUS® C»õ£®, 
(C¢v¯õÂÀ QøhUS® »õ£zvÀ £õv) ¹. 20,000. 

 (D) Aö©›UPõÂÀ EÒÍ {ÖÁÚ[PÎß Á¸©õÚ® 
©ØÖ® C¢v¯õÂÀ ö£ØÓ Á¸©õÚ® ¹. 1,00,000 

 (E) Aö©›UPõÂÀ ÂÁ\õ¯® ©ØÖ® C¢v¯õÂÀ ö£ØÓ 
Á¸©õÚ® – ¹. 10,000 

 (F) á¨£õÛÀ ÷Áø» Áõ´¨¦ ‰»® A[S Qøhzu 
Á¸©õÚ® ¹. 20,000 

 (G) C¢v¯õÄUS öPõskÁμ¨£mh Ph¢uPõ» Á› 
ö\¾zu¨£hõu »õ£® ¹. 50,000. 

  2024–25 ©v¨¥mk BsiØPõÚ _Û¼ß ö©õzu 
Á¸©õÚzøuU PnUQk[PÒ. 

  (i) C¢v¯õÂÀ Á]¨£Áº ©ØÖ® \õuõμn©õP 
Á]¨£Áº 

  (ii) C¢v¯õÂÀ Á]¨£Áº BÚõÀ \õuõμn©õP 
Á]¨£Áº AÀ» 

  (iii) C¢v¯õÂÀ Á]UPõuÁº. 
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18. From the following is particulars, compute salary income. 

 (a) Basic salary Rs. 13,000 p.m 

 (b) Dearness allowance Rs. 900 p.m. of which Rs. 500 
pm. enters into pay for service benefits 

 (c) Bonus Rs. 8,400 

 (d) Salary in lieu of leave Rs. 3,000 

 (e) Entertainment allowance Rs. 1,500 p.m. 

 (f) Reimbursement of conveyance expenditure incurred 
for performing duties Rs. 200 p.m. 

 (g) Furnitured house at concessional rent of Rs. 800 
p.m. in Chennai. Fair rental value Rs. 2,500 p.m 
cost of furniture Rs. 35,000. Salary of gardener  
Rs. 1,000 p.a. 

 (h) Club bills paid by employer Rs. 2,200 p.a. 

 (i) Contribution by employer and employee to R.P.F - 
13% (each) of salary. 

 (j) Reimbursement of medical expenses Rs. 2,000 
(government hospital). 

 (k) Life insurance premium paid by employee -own life -
Rs. 3,000 p.a wife’s life Rs. 4,000 p.a. Major son - 
Rs. 2,000 p.a. 

 (l) Amount deposited in ELSS 2007 Rs. 2,400. 

 (m) Contribution to public provident fund Rs. 2,000 p.a. 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x ÂÁμ[PÒ, \®£Í Á¸©õÚzøu 
PnUQk[PÒ. 

 (A) Ai¨£øh \®£Í® ¹. 13,000 p.m 

 (B) APÂø»¨£i ¹. 900 p.m CvÀ ¹. 500 p.m. ÷\øÁ 
|ßø©PÐUPõÚ Fv¯zvÀ ~øÇQÓx 

 (C) ÷£õÚì ¹. 8,400 
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 (D) Âk¨¦US £v»õP \®£Í® ¹. 3,000 

 (E) ö£õÊx÷£õUS öPõk¨£ÚÄ ¹. 1,500 p.m 

 (F) Phø©PøÍ {øÓ÷ÁØÖÁuØPõP ÷©ØöPõÒÍ¨£mh 
÷£õUSÁμzx ö\»ÂÚ[PøÍ v¸¨¤a ö\¾zxuÀ  
¹. 200 

 (G) ¹. 800 \¾øP ÁõhøP°À  uÍÁõh[PÒ öPõsh 
Ãk ö\ßøÚ°À {¯õ¯©õÚ ÁõhøP ©v¨¦  
¹. 2,500 p.m uÍÁõh[PÎÀ Âø» ¹. 35,000. 
÷uõmhUPõμ›ß \®£Í® ¹. 1,000 p.a. 

 (H)  •u»õÎ¯õÀ ö\¾zu¨£mh QÍ¨ ¤ÀPÒ ¹.2,200 p.a 

 (I) R.P.F. US •u»õÎ ©ØÖ® £o¯õÍ›ß £[PÎ¨¦ –
\®£ÍzvÀ 13% (JÆöÁõßÖ®) 

 (J) ©¸zxÁa ö\»ÄPÒ ¹. 2,000 (Aμ_ ©¸zxÁ©øÚ) 
v¸®£¨ ö£ÖuÀ 

 (K) FÈ¯º ö\¾zx® B²Ò Põ¨¥mk ¤Ÿª¯®–ö\õ¢u 
ÁõÌUøP – ¹. 3,000 p.a. ©øÚÂ°ß ÁõÌUøP  
¹. 4,000 p.a. ö£›¯ ©Pß – ¹. 2,000 p.a. 

 (JÍ) ELSS 2007 CÀ öh£õ]m ö\´¯¨£mh öuõøP  
¹. 2,400. 

 (L) ö£õx Á¸[Põ» øÁ¨¦ {vUS £[PÎ¨¦  
¹. 2,000 p.a. 

19. Mr. Kumar an advocate, furnishes the following receipts 
and payments for the P.Y 2023-24. 

Receipts Rs. Payments Rs. 
To Balance b/d 6,540 By rent 2,400
Legal fees 84,400 Telephone 3,000
Interest on debentures 2,700 Salaries 2,400
Salary (as part time lecturer) 3,600 Travelling charges 560
Gift from client 10,000 Office expenses 840
Rent 6,000 Stamp paper 1,600
Interest on foreign security 8,000 Interest on loan 870
Refund of company deposits 2,000 Donation to a school 5,000
  Balance c/d 1,06,570
 1,23,240  1,23,240

 Compute the professional income. 
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 ÁÇUPÔbº v¸. S©õº. ¤.J´ 2023–24 UPõÚ ¤ßÁ¸® 
μ^xPÒ ©ØÖ® öPõk¨£ÚÄPøÍ ÁÇ[SQÓõº. 

μ^xPÒ ¹. öPõk¨£ÚÄPÒ ¹. 

C¸¨¦ b/d 6,540 by ÁõhøP 2,400

\mhU Pmhn® 84,400 öuõø»÷£] 3,000
Phß £zvμ[PÒ «uõÚ Ámi 2,700 \®£Í® 2,400
\®£Í® (£Sv ÷|μ   £¯nU Pmhn® 560
Â›Äøμ¯õÍμõP) 3,600 A¾Á»P ö\»ÄPÒ 840
ÁõiUøP¯õÍ›hª¸¢x £›_ 10,000 •zvøμzuõÒ 1,600
ÁõhøP 6,000 PhÝUPõÚ Ámi 870
öÁÎ|õmk £õxPõ¨¦ «uõÚ Ámi 8,000 J¸ £ÒÎUS |ßöPõøh 5,000
{ÖÁÚ® öh£õ]m   C¸¨¦ c/d 1,06,570
v¸®£¨ ö£ÖQÓx 2,000  

 1,23,240  1,23,240

 öuõÈÀ•øÓ Á¸©õÚzøu PnUQk[PÒ. 

20. Krishnamoorthy, born 5-1-1975 has the following 
information: 

Particulars Rs. 
Salary income 1,00,000
Rent from house p.a 58,000
Municipal taxes paid during the year 6,000
Short term capital gain on sales of listed equity
Shares on 1-9-2023 (Subjected to STT) 5,000
Long term capital gain on sale of gold 3,50,000
Winning from lottery (Gross) 50,000
Interest on commercial securities 6,000
Interest on government securities 2,000
Interest on debentures of listed Co. 1,50,000
Deposit in PPF account 90,000
LIP on own life policy  
(sum assured Rs. 2,00,000) 20,000
Crossword puzzle winnings 80,000

 Compute the next tax payable by Krishnamoorthy for 
A.Y. 2024–25. 
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 Q¸èn‰ºzv 5–1–1975 CÀ ¤Ó¢uÁº ¤ßÁ¸® 
uPÁÀPøÍU öPõskÒÍõº. 

ÂÁμ[PÒ ¹. 
\®£Í Á¸©õÚ® 1,00,000

ÃmiÀ C¸¢x ÁõhøP p.a. 58,000
Bsk •ÊÁx® ö\¾zu¨£mh |Pμõm] Á›PÒ 6,000
£mi¯¼h¨£mh £[SPÎÀ ÂØ£øÚ°À SÖQ¯
 Põ» ‰»uÚ Buõ¯® 1.9.2023  

AßÖ £[SPÒ (STT US Em£mhx) 5,000
u[P ÂØ£øÚ°À }shPõ» ‰»uÚ Buõ¯® 3,50,000
»õmh›°À C¸¢u öÁØÔ (ö©õzu®) 50,000
ÁoP¨ £zvμ[PÒ «uõÚ BºÁ® 6,000
Aμ_ £zvμ[PÒ «uõÚ Ámi 2,000
£mi¯¼h¨£mh {ÖÁÚzvß  
Phß £zvμ[PÒ «uõÚ Ámi 1,50,000
PPF PnUQÀ øÁ¨¦ 90,000
ö\õ¢u B²Ò £õ¼]°À GÀ.I.¤  
(EÖv¨£kzu¨£mh öuõøP ¹. 2,00,000) 20,000
SÖUöPÊzx ¦vº öÁØÔPÒ 80,000

 AY 2024–25 US Q¸èn‰ºzv ö\¾zu ÷Ási¯ {Pμ 
Á›ø¯U PnUQk[PÒ. 

–––––––––– 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is auditing? 

 uoUøP GßÓõÀ GßÚ? 

2. What are the different types of errors? 

 £À÷ÁÖ ÁøP¯õÚ ¤øÇPÒ GßÚ? 

3. What is an internal audit? 

 EÒ uoUøP GßÓõÀ GßÚ? 

4. What is an audit note book? 

 uoUøP SÔ¨¦ ¦zuP® GßÓõÀ GßÚ? 

5. Explain teeming and lading. 

 jª[ ©ØÖ® ÷»i[ £ØÔ ÂÍUS[PÒ. 

6. Define vouching. 

 £ØÖa ^mk Áøμ¯ÖUPÄ®. 

Sub. Code 
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7. What do you understand by verification? 

 \›£õº¨¦ ‰»® }[PÒ GßÚ ¦›¢x öPõÒQÕºPÒ? 

8. Write short notes on verification of stock-in-trade. 

 £[S ÁºzuP® \›£õº¨¦ £ØÔ¯ ]Ö SÔ¨¦PøÍ GÊuÄ®. 

9. What do you mean by third party liability? 

 ‰ßÓõ® uμ¨¦ ö£õÖ¨¦ GßÓõÀ GßÚ? 

10. What is the misstatement of the prospectus? 

 vmh ÂÍUP uÁÓõÚ AÔUøP GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions choosing either (a) or (b). 

11. (a) Distinguish between investigation and auditing. 

  Â\õμønUS® uoUøPUS® Cøh÷¯ ÷ÁÖ£kzvU 
Põmk[PÒ. 

Or 

 (b) “An auditor is a watch-dog and not a blood-hound” – 
Discuss. 

  “J¸ Bimhº J¸ PsPõo¨¦ |£º AÀ»” – 
ÂÁõvUPÄ®. 

12. (a) Briefly explain the procedure of an audit. 

  uoUøP°ß ö\¯À•øÓø¯ _¸UP©õP ÂÍUS[PÒ. 

Or 

 (b) Distinguish between internatal check and internal 
audit.  

  EÒ \›£õº¨¦ ©ØÖ® EÒ uoUøP BQ¯ÁØøÓ 
÷ÁÖ£kzx[PÒ. 
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13. (a) Explain the procedure relating to vouching of goods 
sent on consignment. 

  \μUSPÎÀ AÝ¨£¨£mh ö£õ¸mPÎß EÖvö©õÈ 
öuõhº£õÚ |øh•øÓø¯ ÂÍUPÄ®. 

Or 

 (b) Explain the points to be borne in mind by the 
auditor while examining vouchers. 

  £ØÖa ^mkPøÍ £›÷\õvUS® ÷£õx uoUøP¯õÍº 
©ÚvÀ öPõÒÍ ÷Ási¯ ¦ÒÎPøÍ ÂÍUPÄ®. 

14. (a) Distinguish between the terms vouching, 
verification and valuation. 

  EÖvö©õÈ, \›£õº¨¦ ©ØÖ® ©v¨¥k BQ¯ 
Âv•øÓPøÍ ÷ÁÖ£kzuÄ®. 

Or 

 (b) Write short notes on the following : 

  (i)  confirmation vs verification  

  (ii)  verification on contingent liabilities. 

  ¤ßÁ¸ÁÚÁØÔÀ ]Ö SÔ¨¦PøÍ GÊuÄ®  

  (i) EÖv¨£kzuÀ vs \›£õº¨¦ 

  (ii) uØö\¯»õÚ ö£õÖ¨¦PÒ «uõÚ \›¨£õº¨¦. 

15.  (a) To what extent, an auditor is liable to third parties? 
Explain with case law. 

  G¢u AÍÂØS, J¸ uoUøP¯õÍº ‰ßÓõ® 
uμ¨¤Ú¸US ö£õÖ¨£õP C¸UQÓõº? ÁÇUS 
\mhzxhß ÂÍUPÄ®.  

Or 

 (b) Write a note on liability of an auditor under other 
statues than companies act 2013. 

  {ÖÁÚ[PÒ \mh® 2013 uÂμ J¸ uoUøP¯õÍ›ß 
ö£õÖ¨¦ SÔzx J¸ SÔ¨ø£ GÊuÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the qualifications and qualities possessed by an 
auditor. 

 uoUøP¯õÍ›h® EÒÍ uSvPÒ ©ØÖ® Sn[PøÍ¨ 
£ØÔ ÂÁõvUPÄ®. 

17. Explain the different classifications of audit working 
papers. 

 uoUøP ÷Áø» BÁn[PÎß £À÷ÁÖ ÁøP¨£õkPøÍ 
ÂÍUPÄ®. 

18. Explain the duties of an auditor in connection with 
vouching of the payment side of the cash book. 

 £n¨¦zuPzvß £n® ö\¾zx® £UPzøu EÖv ö\´Áx 
öuõhº£õP uoUøP¯õÍ›ß Phø©PøÍ ÂÍUPÄ®. 

19. Explain how you would verify the assets and liabilities 
appearing in the balance sheet of a limited company. 

 Áøμ¯ÖUP¨£mh {ÖÁÚzvß C¸¨¦{ø»U SÔ¨¤À 
÷uõßÖ® ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ GÆÁõÖ 
\›£õºUP»õ® Gß£øu ÂÍUS[PÒ. 

20. Discuss the liability of an auditor on the ground of 
negligence. 

 A»m]¯zvß Ai¨£øh°À uoUøP¯õÍ›ß ö£õÖ¨¦ 
£ØÔ ÂÁõvUPÄ®. 

———————— 


